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Abstract: In this work, the calculation on patients, we arrived to establish a standard model of treatments for Coronary
artery disease. May be by the same fashion, we developed a fuzzy soft expert system based on fuzzy soft sets, by an
algorithm to predict those patients who may suffer Coronary artery disease. In this way, it is possible to conclude that
the use of fuzzy soft expert system can produce valuable results for Coronary artery disease detection. It is found that
the fuzzy soft expert system developed is useful for the expert doctor to decide if a patient has Coronary artery disease

or not. Finally, we introduced a diagnosed comparison between our proposed system and the fuzzy inference system.
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1. Introduction

A model treatment of coronary artery disease becomes more necessary. Because the coronary artery disease
has increasing and cause 30% of deaths in most of the countries around the globe[l]. Cholesterol is one of the
main risk factor for subsequent sudden death [2]. Cholesterol has been identified as one of the main risk factors
for myocardial infarction and subsequent sudden death [2]. We will put an expert system equal the reasoning
of doctors. In [3, 4] many medical expert systems have been developed. Multiple disease expert systems and
state the risk factor studied in [5-9]. In [9-12] studies at different ways to analysis, detection of cardiovascular
diseases. Artificial immune recognition system (AIRS) was used to detect heart diseases [13, 14], while single
lead ECG classification methodology was proposed using time domain principal components [15-17] after a
methodology for CAD diagnosis based on fuzzy model [18] was suggested. A fuzzy model [19] used to develop
coronary artery disease detection. In [20] Kurt, put a model to predict the absence or presence of coronary
artery disease. A methodology for diagnosing of the heart disease introduced by Das, Turkoglu and Sengur
in [21]. Based on Clinic Foundation database in [22] Adeli and Neshat employed a fuzzy expert system for
heart disease diagnosis. The performance of the system can be increased by tuning of membership function
using optimization algorithms [23]. A swarm optimization-based fuzzy expert system and three rule generation
algorithms—Apriori, Predictive Apriori and Tertius as proposed in [24,25] for the diagnosis of coronary artery
disease. In our work based on myocardial perfusion scan test and clinical-epidemiological variables and a
fuzzy-boosting PSO approach [26, 27].
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Automated diagnosis of coronary artery disease using tunable-Q wavelet transform applied
on heart rate signals has been presented [28], based on the generalized Minkowski metrics
[29]. On the other hand, Russien, Moldodstov in [30] introduced the soft set theory, Maji
[31] discussed the theoretical and several operations aspect of soft sets, in [32] also,
introduced fuzzy soft sets based on a combination of the fuzzy set and soft set models. Roy
and Maji [33] proposed the concept of soft set with application in decision making. Kong
[34] argued that the Roy and Maji method [33] was incorrect and presented a revised
algorism. Feng [35] presented an adjustable approach to fuzzy soft set based decision
making by means of level soft sets. Our paper arranged as follows: Section 2 the Proposed
Methodology and Implementation and present ways to transform the reality data to fuzzy
soft set expert and combinations the parameters are introduced. In section 3 a comparison
between our treatments and treatments hospital are discussed. In section 4 conclusions are
presented.

Definition 1.1 [30] Let X refers to an initial universe and E is a set of parameters. Let P(X)
denote the power set of X and A c E. A pair (F, A) is called a soft set over X, where F is a
mapping given by F: A = P(X). In other words, a soft set over X is a parameterized family
of subsets of the universe X. Fore € A, F(¢) may be considered as the set of ¢-
approximate elements of the soft set (F,A).

Definition 1.2 [32] let X = {0y,0,,03,....,0,} be a set of k objects, which may be
characterized by a set of parameters A;, A5, A5, ...., A;. Then parameter space E may be
writtenas E 2 A; U A, U A3 U ....U A;. Let each parameter set A; represent the ith class of
parameters and the elements of A; represents a specific property set. Here we assume that
these property sets may be viewed as fuzzy sets.

2. The Proposed Methodology and Implementation

Classification of systolic blood pressure, the degree blood pressure of normal man between
120 - 170 so if the blood pressure of this man is 134 is low degree and 154 is high degree,
we can transform these degree to fuzzy form by divide any degree by 170, for example

Types of diseases Degree Fuzzy sets values

120 120_0.70

Classification of 179
systolic blood 137 70 = 0-80
pressure 160 160 _0.94

170
170 170 _1.00

170

Table 1 transforms the data to fuzzy form

By the same fashion Classification of cholesterol, maximum heart rate, blood sugar, old peak
and age and transform these degree to fuzzy form by divide any degree by high degree , for
example
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Types of diseases Degree Fuzzy sets values
197 7 _0.65
Classification of e
Cholesterol 210 300 - 0-70
260 =2=0.86
300 2 =1.00
Follow Table 1 transforms the data to fuzzy form
Types of diseases Degree Fuzzy sets values
135 135 _ 061
Classification of I
Maximum heart rate 180 220 = 081
190 —2=0.86
220 % =1.00

Follow T

able 1 transforms the data to fuzzy form

Types of diseases Degree Fuzzy sets values

100 120 - 0.90

Classification of 133
Blood sugar 112 133 0.84
120 120 - 0.90

133
133 133 _1.00

133

Follow Table 1 transforms the data to fuzzy form

Types of diseases Degree Fuzzy sets values
2.0 20 _ 0,50
Classification of oo
old peak 2.8 - - 0.70
3.2 32 _0.80
4
4 2-1.00

4_

Follow Table 1 transforms the data to fuzzy form

Types of diseases Degree Fuzzy sets values
20 2=0.28
Classification of
40 20
Age 70 057
50 2071
70
70 2-1.00
70

Follow Table 1 transforms the data to fuzzy form



Let study a nine patient have the following reality data as a symptoms of coronary artery
disease the first and nine patients take the lower and higher values of symptoms. Our aims
study all cases by fuzzy soft expert set and state the risk of the patient and type of
treatments, so first, explain a famous possibility a symptoms of coronary artery disease and
take only one reality value of a symptoms for all patients. The following table 1 explain The
four reality values state the case Low (L), Medium (M), High (H) and Very high (VH) of
coronary artery . Table 1 explain the reality values of a symptoms of coronary artery

disease
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Blood pressure

Cholesterol

Maximum heart rate

p1

P2

P3

D4

Ps

Pe

1%

Ps

Do

Table 2: Reality values of a symptoms of coronary artery disease for nine male patients

{120,137, 160, 170}
{133,155, 166,169}
{125,157, 150,167}
{110, 147, 150, 166}
{90,120, 140,150}
{110,120, 160, 170}
{140,157, 160, 166}
{130,147, 160, 166}

{100,127, 130, 160}

{197,210, 260,300}
{110,137,160, 220}
{197,210, 260,300}
(130,147,160, 190}
(200,210,250, 270}
{210,237, 260,270}
(220,247,260, 280}
{190,210, 260, 270}

{180,200, 260, 290}

{135,180, 190, 220}
{120,137,170, 200}
{144,177,190, 200}
{120,147,160, 170}
{130,157,160, 210}
{135,167, 190, 200}
{139,167, 200,210}
(138,188,210, 215}

{140,180, 200, 210}

P Blood sugar Old peak Age
p1 | {100,112,120,133} {2.0,2.8,3.2,4.0} 44
p. | {120,130,131,132}  {2.0,2.2,3.2,3.9} 50
ps | {100,105,110,120} {2.0,2.2,3.4,3.6} 60
ps | {90,110,122,132} {2.1,2.4,3.2,4.0} 30
ps | {100,107,120,125}  {2.0,2.9,3.2,4.0} 36
pe | {110,127,130,133} {1.8,2.8,3.1,4.0} 55
p; | {100,125,130,133}  {2.0,2.3,3.2,3.7} 62
ps | {110,117,120,130} {2.4,2.8,3.7,4.0} 49
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po | {100,101,115,120}  {2.0,2.2,3.2, 4.0} 65

Follows table 2: explain the reality values of symptoms of coronary artery disease for
Nine male patients

The following details of symptoms of coronary artery disease according Sikchi et. Al [38],

Now our aim is arrive by this data about symptoms of coronary artery disease to fuzzy
form so we divide all values by the higher values. And distribute the degree to four fuzzy
sets form are Low (L), Medium (M), High (H) and Very high (VH). Table 2 explain the four
fuzzy sets are Low (L), Medium (M), High (H) and Very high (VH). The following table 3
explains the data of the patients in fuzzy form,

P Blood Cholesterol Maximum Blood Old peak Age
pressure heart rate sugar
0.70 (065 0.61 (075 (0.50
- 0.80 {l 0.70 0.81 {l 0.84 {l 0.70 0.62
0.94 | 086 0.86 | 090 | 0-80
k1.00 k1.00 k1.00 k1.00 k1.00
(078 0.36 0.54 (0.90 0.50
Pz ! 0.91 0.45 0.62 4 0.97 0.55
097 0.53 0.77 098 0.94 0.71
k0.99 t0.73 L0.90 k0.99 k0.97
0.62
. 0.73 (0.65 (0.65 (0.75 (0.50
3 0.92 l 0.70 ! 0.80 4 0.78 ! 0.55
0.88 l0.86 l0.86 lo.sz {0.85
0.89 1.00 0.90 0.90 l0.90
i 0.64 (043 (0.54 0.67 (0.52
* 0.86 4 0.49 ! 0.66 0.82 ! 0.60 0.85
0.88 Lo.53 l0.72 0.91 lo.so
0.97 0.63 0.77 0.99 1.00




Ps

P

P

Pg

Py

0.82

0.92

0.94

0.97

0.76

0.86

0.94

0.97

0.58

0.74

0.76

0.94
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0.66

0.70

0.83

0.90

0.70

0.97

0.70

0.86

0.90

0.60

0.66

0.86

0.96

r0.59
0.62
0.77

0.95

0.61

0.75

0.86

1.00

0.63

0.75

0.90

0.95

0.62

0.85

0.95

0.97

0.63

0.81

0.90

0.95

(0.75
| 0.80
{ 0.90
l0.92
(0.82
{l 0.95

| 0.97

k1.00

0.75
0.92
0.97

1.00

0.82
0.87
0.90

0.97

0.75
0.75

0.86

0.90

(0.50

/——A——
O
© N
S N

=
o
)

r0.45
0.70
0.77

1.00

0.50

0.57

0.80

0.92

0.60

0.70

0.92

1.00

0.50

0.55

0.80

1.00

Table 3: The data of the patients in fuzzy form

0.42

0.51

0.78

0.88

0.70

Then the resultant of symptoms (Blood pressure (BP) And Cholesterol (C)) of coronary artery disease

in fuzzy form explained in Table 4 and figure 1

(BP)1 (BP)L (BP)L (BP)1 (BP)2 (BP)2 (BP)2 (BP)2 (BP)3 (BP)3 (BP)3 (BP)3 (BP)4 (BP)4 (BP) (BP)4

€1 (€2 (Cp3 ©4 ©1 (©2 @©3 (©4 ©r (€2 ©3 @©4 ©r (©2 (@©3 (©4
Patient one 0.70  0.70 0.86 1.00 080 080 08 100 094 094 09 100 100 1.00 1.00 1.00
Patient Two 078 0.78 0.78 078 091 091 091 091 097 097 097 097 099 099 099 099
Patient Three | 0.73  0.73 0.86 1.00 092 092 092 100 08 08 08 100 089 089 089 1.00
Patient Four 064 0.64 0.64 064 08 08 086 08 08 08 08 08 097 097 097 0.97
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Patient Five 066 0.70 0.83 0.90 070 070 083 090 o082 082 083 0.9 o8 088 0.88 0.90
Patient Six 070 097 08 090 070 097 08 090 094 097 094 094 100 1.00 100 1.00
PatientSeven | 082 082 086 093 092 092 092 093 094 094 094 094 097 097 097 097
Patient Eight 076 0.76 0.86 090 086 0.86 0.86 090 094 094 094 094 097 097 097 0.97
Patient Nine 060 066 08 096 074 074 08 09 076 076 08 096 094 094 094 096
Table 4: The resultant of symptoms (Blood pressure (BP) And Cholesterol (C))
Such that (BP)1 (C)1 mean that for the patient one 0.70 v 0.65 = 0.70, and (BP)1 (C)2
mean that 0.70 v 0.70 = 0.70. By the same way take the resultant of symptoms (Blood pressure
(BP) And Cholesterol (C)) of the patients.
—4—Patient one
== Patient Two
== Patient Three
=== Patient Four
=== Patient Five
Patient Six
Patient Seven
Patient Eight
Figurel: The resultant of symptoms (Blood pressure (BP) And Cholesterol (C)).
By the same fashion we introduce the resultant of symptoms (Maximum heart rate (MHR) and Blood
sugar (BS) in table 5 and figure 2 and the resultant of symptoms (Old peak (OP) and Age (Age) ) in table 6
and figure 3 of coronary artery disease in fuzzy form
(MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR (MHR
)1 )1 )1 )1 )2 )2 )2 )2 )3 )3 )3 )3 )4 )4 )4 )4
_ (BS)L (BS)2 (BS)3 (BSYA (BS)I  (BS)2 (BS)3 (BS)4 (BS)L  (BS)2 (BS)3 (BSY  (BS)L  (BS)2  (BS)3  (BS)4
Patient one 075 084 09 100 081 084 09 100 08 08 090 100 100 100 1.00 1.00
Patient Two 090 097 098 099 090 097 098 099 090 097 098 099 099 097 098 0.99
Patient Three | 075 078 082 090 080 080 082 09 08 08 08 09 09 09 090 090
Patient Four 067 082 091 099 067 08 091 099 072 08 091 099 077 082 091 099
Patient Five 075 080 090 092 075 080 090 092 077 080 090 092 095 09 095 095
Patient Six 082 095 097 100 082 095 097 100 08 095 097 100 100 100 1.00 1.00
PatientSeven | 075 092 097 100 075 092 097 100 090 092 097 100 095 095 097 1.00
Patient Eight 0.82 0.87 0.90 0.97 0.85 0.87 0.90 0.97 0.95 0.95 0.95 0.97 0.97 0.97 0.97 0.97
Patient Nine 075 075 08 09 08 08 08 09 090 09 09 090 095 095 095 095

Table 5: The resultant of symptoms (Maximum heart rate (MHR) and Blood sugar (BS))
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= Patient one
= Patient Two
== Patient Three

e Patient Four

= Patient Five
= Patient Six

Patient Seven

Patient Eight

Figure2: The resultant of symptoms (Maximum heart rate (MHR) and Blood sugar (BS))

patients (OP)1 (OP)2 (OP)3 (OP)4
_ (Age) (Age) (Age)  (Age)
Patient one 0.62 0.70 0.80 1.00

Patient Two 071 071 0.94 0.97
Patient Three | 0.62  0.62 0.85 0.90
Patient Four 085 0.85 0.85 1.00
Patient Five 050 072 080  1.00
Patient Six 051 070 0.77 1.00
Patient Seven | 0.78 078 0.80  0.92
Patient Eight | 0.88 088  0.92 1.00
Patient Nine 0.70  0.70 0.80 1.00

Table 6: The resultant of symptoms ((Old peak (OP) and Age (Age))

Patient one

—0—(OP)1 (Age)
== (OP)2 (Age)
(OP)3 (Age)

Patient
Three

Patient Four =>e=(0P)4 (Age)

Figure3: The resultant of symptoms ((Old peak (OP) and Age (Age))

Now from tables 4 and 5, we will have 16X 16 parameters by take (BP)1 (C)1 in table 4
for all the patients with all parameters of patients in table 5. And (BP)1 (C)2 in table 4 for
all the patients with all parameters of patients in table 5. And (BP)1 (C)3 in table 4 for the
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all patients with all parameters of patients in table 5. And (BP)1 (C)4 in table 4 for the all
patients with all parameters of patients in table 5 and complete by the same way to arrive
to the parameter (BP)4 (C)4 in table 4 for the all patients with all parameters of patients in
table 5. The results of these values explained in the following tables 7 (From table 7(a) to
follow table 7(p)).

will began by (BP)1(C)1 in table 4 for the all patients with all parameters (MHR)1 (BS)1,
(MHR)1 (BS)2, (MHR)1 (BS)3, (MHR)1 (BS)4, (MHR)2 (BS)1, (MHR)2 (BS)2, (MHR)2
(BS)3, (MHR)2 (BS)4, (MHR)3 (BS)1, (MHR)3 (BS)2, (MHR)3 (BS)3, (MHR)3 (BS)4,
(MHR)4 (BS)1, (MHR)4 (BS)2, (MHR)4 (BS)3, (MHR)4 (BS)4 ofall patientsin table 5.
Explained in able 7(a): The resultant (BP)1 (C)1 with (BP)i (C)j, i=j=1,2,3,4.

And complete by take (BP)1(C)2 in table 4 for the all patients with all parameters (MHR)1
(BS)1, (MHR)1 (BS)2, (MHR)1 (BS)3, (MHR)1 (BS)4, (MHR)2 (BS)1, (MHR)2 (BS)2,
(MHR)2 (BS)3, (MHR)2 (BS)4, (MHR)3 (BS)1, (MHR)3 (BS)2, (MHR)3 (BS)3, (MHR)3
(BS)4, (MHR)4 (BS)1, (MHR)4 (BS)2, (MHR)4 (BS)3,(MHR)4 (BS)4 ofall patientsin
table 5. Explained in follow able 7(b): The resultant (BP)1 (C)1 with (BP)i (C)j, i=j=1,2,3,4.

By the same model,

Follow table 7(c): explain the resultant (BP)1 (C)3 with (BP)i (C)j, i=j=1,2,3,4,
Follow table 7(d): explain the (BP)1 (C)4 with (BP)i (C)j, i=j=1,2,3,4
Follow table 7(e): explain the (BP)2 (C)1 with (BP)i (Q)j, i=j=1,2,3,4
Follow table 7(f): explain the (BP)2 (C)2 with (BP)i (C)j, i=j=1,2,3,4
Follow table 7(g): explain the (BP)2 (C)3 with (BP)i (C)j, i=j=1,2,3,4
Follow table 7(h): explain the (BP)2 (C)4 with (BP)i (C)j, i=j=1,2,3,4
Follow table 7(i): explain the (BP)3 (C)1 with (BP)i (C)j, i=j=1,2,3,4
Follow table 7(j): explain the (BP)3 (C)2 with (BP)i (C)j, i=j=1,2,3,4
Follow table 7(k): explain the (BP)3 (C)3 with (BP)i (C)j, i=j=1,2,3,4
Follow table 7(l): The resultant (BP)3 (C)4 with (BP)i (C)j, i=j=1,2,3,4
Follow table 7(m): explain the (BP)4 (C)1 with (BP)i (C)j, i=j=1,2,3,4

Follow table 7(n): explain the (BP)4 (C)2 with (BP)i (C)j, i=j=1,2,3,4
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Follow table 7(0): explain the (BP)4 (C)3 with (BP)i (C)j, i=j=1,2,3,4

Follow table 7(p): explain the (BP)4 (C)4 with (BP)i (C)j, i=j=1,2,3,4

In the following tables 7 and follow table 7 the statement (BP)1 (C)1 with (MHR)1 (BS)1
mean that 70 V75 = 75and (BP)1 (C)1 with (MHR)1 (BS)2 meanthat 70 V84 = 84 and
(BP)1 (C)2 with (MHR)1 (BS)1 meanthat 70 V75 = 75 by this fashion complete all values
to get tables 7 and follow table 7. And tables 7 and with all follows table’s only one table by
thelong 16 X 16 = 256 parameters.

(BP)1  (BP)1  (BP)L  (BP)L  (BP)L  (BP)1  (BP)1  (BP)1  (BP)I  (BP)I  (BP)L  (BP)1L  (BP)1  (BP)1  (BP)1  (BP)1
(©1 ©1 ©1 (©1 ©1 ©1 (©1 (©1 ©1 ©1 (©1 ©1 ©1 ©1 (©1 ©1
With With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)L  (BS)2 (BS)3 (BS)YA (BS)L (BS2 (BS)3 (BS)M (BS)L (BS)2 (BS)3 (BS)4  (BS)L  (BS)2  (BS)3  (BS)4
Patient one | 075 084 090 100 081 084 094 100 086 08 090 100 100 100 100 1.00
PatientTwo | 090 097 098 099 090 097 098 099 090 097 098 099 099 097 098 099
Patient Three | 075 078 082 090 080 080 08 090 086 08 08 090 090 090 090 0.90
PatientFour | 067 082 091 099 067 082 091 099 072 08 091 099 077 08 091 099
PatientFive | 075 080 090 092 075 080 090 092 077 080 090 092 095 095 095 095
PatientSix | 082 095 097 100 082 095 097 100 086 095 097 100 100 100 100  1.00
Patientseven | 082 092 097 100 082 092 097 100 090 092 097 100 095 095 097  1.00
PatientEight | 082 087 090 097 085 087 090 097 095 095 095 097 097 097 097 097
PatientNine | 075 075 086 090 081 081 08 090 090 090 090 090 095 095 095 095
Table 7(a): The resultant (BP)1 (C)1 with (BP)i (Q)j, i=j=1,2,3,4
(BP)1  (BP)L  (BP)1  (BP)1  (BP)I  (BP)L  (BP)1  (BP)1  BP)1 BP)1 BP)1 BP)1 BP)1 BP)1 BP)1 BP)1
©2 (© (© (© (© (© (@ (© (@ (©2 (92 (©2 (2 (©2 (©2 (02
With With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
BS)L (BS)2 (BS)3 (BS)YA (BS)I (BS)2 (BS)3 (BS)A (BS)L (BS)2 (BS)3 (BS)4 (BS)L (BS)2 (BS)3  (BS)4
Patient one | 075 084 090 100 081 084 094 100 08 08 090 100 100 100 1.00  1.00
PatientTwo | 090 097 098 099 090 097 098 099 090 097 098 099 099 097 098 0.99
Patient Three | 075 078 082 090 080 080 08 090 08 08 08 090 090 090 090 0.90
PatientFour | 067 082 091 099 067 08 091 099 072 08 091 099 077 082 091 099
PatientFive | 075 080 090 092 075 080 090 092 077 080 090 092 095 095 095 0.95
Patient Six 097 097 097 100 097 097 097 100 097 097 097 100 100 100 100  1.00
PatientSeven | 082 092 097 100 082 092 097 100 090 092 097 100 095 095 097  1.00
PatientEight | 082 087 090 097 085 087 090 097 095 095 095 097 097 097 097 097
PatientNine | 075 075 086 090 081 08 08 090 090 090 090 090 095 095 095 0.95
Follow table 7(b): The resultant (BP)1 (C)2 with (BP)i (Q)j, i=j=1,2,3,4
()1  (BP)L  (BP)1  (BP)1  (BP)L  (BP)1  (BP)1  (BP)L  (BP)L  (BP)1  (BP)I  (BP)L  (BP)1  (BP)I  (BP)1  (BP)1
©)3 (©)3 ©)3 ©)3 (©)3 ©)3 ©)3 ©)3 ©)3 ©)3 ©)3 ©3 ©)3 ©3 ©)3 ©3
With With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)L (®BS)2 (BS)3 (BS)YA (BS)I (BS)2 (BS)3 (BS)YA (BS)L (BS)2 (BS)3 (BS)4 (BS)L (BS)2 (BS)3  (BS)4
Patient one | 086 08 090 100 086 08 094 100 08 08 090 100 100 100 1.00 1.00
Patient Two | 090 097 098 099 090 097 098 099 090 097 098 099 099 097 098  0.99
Patient Three | 086 086 086 090 086 08 08 090 08 086 08 090 090 090 090 0.90

10
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PatientFour | 067 082 091 099 067 08 091 099 072 08 091 099 077 082 091 099
PatientFive | 083 083 090 092 083 08 090 092 08 08 090 092 095 095 095 095
Patient Six 086 095 097 100 08 095 097 100 086 095 097 100 100 100 1.00  1.00
PatientSeven | 086 092 097 100 086 092 097 100 090 092 097 100 095 095 097 1.00
PatientEight | 086 087 090 097 08 08 090 097 095 095 095 097 097 097 097 097
PatientNine | 086 08 086 090 081 081 08 090 090 090 090 090 095 095 095 0.95
Follow table 7(c): The resultant (BP)1 (C)3 with (BP)i (C)j, i=j=1,2,3,4
(BP)1  (BP)I  (BP)I  (BP)L  (BP)L  (BP)L  (BP)1  (BP)1  (BP)I  (BP)L  (BP)1  (BP)1  (BP)L  (BP)L  (BP)1  (BP)1
©+ (©+F (©F (©F (OF (OF (OF (OF (OF (OF (OF (OF (@4 (OF (@4 (0
With With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)L  (BS)2 (BS)3 (BS)YA  (BS)L  (BS)2 (BS)3 (BS)Y (BS)L  (BS)2 (BS)3 (B4  (BS)L  (BS)2  (BS)3  (BS)
Patient one | 100 100 100 100 100 100 100 100 100 100 100 100 100 100 1.00  1.00
PatientTwo | 090 097 098 099 090 097 098 099 090 097 098 099 099 097 098 0.99
Patient Three | 100 100 100 100 100 100 100 100 100 100 100 100 100 100 1.00  1.00
PatientFour | 067 08 091 099 067 08 091 099 072 08 091 099 077 082 091 099
PatientFive | 090 090 090 092 090 090 090 092 090 090 090 092 095 095 095 0.95
Patient Six 090 095 097 100 090 095 097 100 090 095 097 100 100 100 1.00 1.00
PatientSeven | 093 093 097 100 093 093 097 100 093 093 097 100 095 095 097 1.00
PatientEight | 090 090 090 097 090 090 090 097 095 095 095 097 097 097 097 097
PatientNine | 096 096 096 096 096 096 096 09 096 096 096 096 096 096 096 0.96
Follow table 7(d): The resultant (BP)1 (C)4 with (BP)i (C)j, i=j=1,2,3,4
(BP)2  (BP)2  (BP)2  (BP)2  (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2  (BP)2  (BP)2
©  © © (© @ (© (© (@ (© (@ (© (@ (© (@ (© (© (1
With ~ With  With  With  With  With  With  With  With With With With With With  With  With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)L  (BS)2 (BS)3 (BS)YA  (BS)L  (BS)2 (BS)3 (BS)Y (BS)L  (BS)2  (BS)3 (B4  (BS)L  (BS)2  (BS)3 (B9
Patient one | 080 084 090 100 081 08 094 100 08 08 090 100 100 100 1.00 1.00
Patient Two | 091 097 098 099 091 097 098 099 090 097 098 099 099 097 098  0.99
Patient Three | 092 082 092 092 092 092 092 092 092 092 092 092 092 092 092 092
PatientFour | 086 086 091 099 086 08 091 099 08 08 091 099 08 086 091  0.99
PatientFive | 075 080 090 092 075 080 090 092 077 080 090 092 095 095 095 095
Patient Six 082 095 097 100 082 095 097 100 086 095 097 100 100 100 1.00  1.00
PatientSeven | 092 092 097 100 092 092 097 100 090 092 097 100 095 095 097 1.00
PatientEight | 086 087 090 097 08 08 090 097 095 095 095 097 097 097 097 097
PatientNine | 075 075 086 090 081 08 08 090 090 090 090 090 095 095 095 0.95
Follow table 7(¢): The resultant (BP)2 (C)1 with (BP)i (C)j, i=j=1,2,3,4
(BP)2  (BP)2  (BP)2  (BP)2  (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2  (BP)2  (BP)2  (BP)2
(©)2 (©)2 (€2 (©)2 (©)2 (©)2 (©)2 ©2 (€2 ©)2 (€2 ©)2 (€2 ©)2 (€2 ©)2
With With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)L  (BS)2 (BS)3 (BS)YA  (BS)L  (BS)2 (BS)3 (BS)Y (BS)L  (BS)2 (BS)3 (BS)YA  (BS)L  (BS)2  (BS)3  (BS)
Patient one | 080 084 090 100 081 08 094 100 08 08 090 100 100 100 1.00 1.00
PatientTwo | 091 097 098 099 091 097 098 099 090 097 098 099 099 097 098  0.99
Patient Three | 092 082 092 092 092 092 092 092 092 092 092 092 092 092 092 092
PatientFour | 086 086 091 099 086 08 091 099 08 08 091 099 08 086 091  0.99
PatientFive | 075 080 090 092 075 080 090 092 077 080 090 092 095 095 095 095
Patient Six 097 095 097 100 097 097 097 100 097 095 097 100 100 100 1.00  1.00
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PatientSeven | 092 092 097 1.00 092 092 097 1.00 090 092 097 100 095 095 097 1.00
Patient Eight 086 087 090 097 08 087 090 097 09 095 095 097 097 097 097 097
Patient Nine 075 075 08 090 08L 08L 08 09 090 09 090 090 095 095 095 095
Follow table 7(f): The resultant (BP)2 (C)2 with (BP)i (C)j, i=j=1,2,3,4
(BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2
©3 (©)3 ©3 ©3 ©3 ©3 ©3 ©3 ©3 ©3 ©3 ©3 ©3 ©3 ©3 ©3
With With With With With With With With With With With With With With With With
(MHR)  (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 086 08 090 100 08 08 094 100 08 08 090 100 1.00 100 100 1.00
Patient Two 091 097 098 099 091 097 098 099 090 097 098 099 099 097 098 099
Patient Three | 092 082 092 092 092 092 092 09 092 092 092 092 09 092 09 0092
Patient Four 086 08 091 099 08 08 091 099 08 08 091 099 08 08 091 099
Patient Five 083 083 090 092 083 08 09 092 08 08 09 092 095 095 095 095
Patient Six 086 095 097 100 08 095 097 100 08 095 097 100 1.00 100 100 1.00
PatientSeven | 092 092 097 1.00 092 092 097 1.00 090 092 097 100 095 095 097 1.00
Patient Eight 086 087 090 097 08 087 090 097 09 09 09 097 097 097 097 097
Patient Nine 086 086 08 090 08L 08L 08 09 090 09 090 090 095 095 095 095
Follow table 7(g): The resultant (BP)2 (C)3 with (BP)i (C)j, i=j=1,2,3,4
(BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2 (BP)2
(©4 ©4 (04 (©4 ©4 (04 ©4 (Ot ©4 (Ot ©4 (Ot ©4 (Ot ©4 (Ot
With With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 1.00 100 100 1.00 100 100 1.00 100 100 100 1.00 100 100 1.00 1.00 1.00
Patient Two 091 097 098 099 091 097 098 099 090 097 098 099 099 097 098 099
Patient Three | 100 100 100 1.00 100 100 1.00 1.00 100 100 1.00 100 100 1.00 1.00 1.00
Patient Four 086 086 091 099 08 08 091 099 08 08 091 099 08 08 091 099
Patient Five 090 090 090 092 09 090 09 092 090 09 09 092 095 095 095 095
Patient Six 090 095 097 100 09 095 097 100 090 095 097 100 1.00 100 100 1.00
PatientSeven | 093 093 097 1.00 093 093 097 1.00 093 093 097 100 095 095 097 1.00
PatientEight | 090 090 090 097 090 090 090 097 095 09 095 097 097 097 097 0097
Patient Nine 096 09 096 096 09 096 09 09 096 096 096 096 096 096 096 0.96
Follow table 7(h): The resultant (BP)2 (C)4 with (BP)i (C)j, i=j=1,2,3,4
(BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3
(01 (01 (01 (01 (01 (01 (01 (01 (01 (01 (01 (01 (01 (01 (01 (01
With With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 094 094 094 100 094 094 094 100 094 094 094 100 1.00 100 100 1.00
Patient Two 097 097 098 099 097 097 098 099 090 097 098 099 099 097 098 099
Patient Three | 088 088 088 090 088 08 088 090 08 08 08 090 090 090 090 0.90
Patient Four 088 088 091 099 08 08 091 099 08 08 091 099 08 088 091 099
Patient Five 082 082 090 092 08 08 09 092 08 08 09 092 095 095 095 095
Patient Six 094 095 097 100 094 095 097 100 094 095 097 100 1.00 1.00 100 1.00
PatientSeven | 094 094 097 1.00 094 094 097 100 094 094 097 100 095 095 097 1.00
Patient Eight 094 094 094 094 094 094 094 097 09 095 095 097 097 097 097 097
Patient Nine 076 076 08 090 08L 08L 08 09 090 09 090 090 095 095 095 095
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Follow table 7(i): The resultant (BP)3 (C)1 with (BP)i (C)j, i=j=1,2,3,4

(BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3
@2 (02 @2 @2 (02 (02 (02 @2 (@2 (@2 (@2 (@2 @2 (@2 @2 (@2
With With With With With With With With With With With With With With With With
(MHR)  (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00 1.00 1.00 1.00 1.00
Patient Two 0.97 0.97 0.98 0.99 0.97 0.97 0.98 0.99 0.90 0.97 0.98 0.99 0.99 0.97 0.98 0.99
Patient Three 0.88 0.88 0.88 0.90 0.88 0.88 0.88 0.90 0.88 0.88 0.88 0.90 0.90 0.90 0.90 0.90
Patient Four 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99
Patient Five 0.82 0.82 0.90 0.92 0.82 0.82 0.90 0.92 0.82 0.82 0.90 0.92 0.95 0.95 0.95 0.95
Patient Six 0.97 0.95 0.97 1.00 0.97 0.97 0.97 1.00 0.97 0.95 0.97 1.00 1.00 1.00 1.00 1.00
Patient Seven 0.94 0.94 0.97 1.00 0.94 0.94 0.97 1.00 0.94 0.94 0.97 1.00 0.95 0.95 0.97 1.00
Patient Eight 0.94 0.94 0.94 0.94 0.94 0.94 0.94 0.97 0.95 0.95 0.95 0.97 0.97 0.97 0.97 0.97
Patient Nine 0.76 0.76 0.86 0.90 0.81 0.81 0.86 0.90 0.90 0.90 0.90 0.90 0.95 0.95 0.95 0.95
Follow table 7(j): The resultant (BP)3 (C)2 with (BP)i (C)j, i=j=1,2,3,4
(BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3
(©)3 ©3 (©)3 (©)3 ©3 ©3 ©3 (©)3 ©3 (©)3 ©3 (©)3 (©3 (©)3 ©3 (©)3
With With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00 1.00 1.00 1.00 1.00
Patient Two 0.97 0.97 0.98 0.99 0.97 0.97 0.98 0.99 0.90 0.97 0.98 0.99 0.99 0.97 0.98 0.99
Patient Three 0.88 0.88 0.88 0.90 0.88 0.88 0.88 0.90 0.88 0.88 0.88 0.90 0.90 0.90 0.90 0.90
Patient Four 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99
Patient Five 0.83 0.83 0.90 0.92 0.83 0.83 0.90 0.92 0.83 0.83 0.90 0.92 0.95 0.95 0.95 0.95
Patient Six 0.94 0.95 0.97 1.00 0.94 0.95 0.97 1.00 0.94 0.95 0.97 1.00 1.00 1.00 1.00 1.00
Patient Seven 0.94 0.94 0.97 1.00 0.94 0.94 0.97 1.00 0.94 0.94 0.97 1.00 0.95 0.95 0.97 1.00
Patient Eight 0.94 0.94 0.94 0.94 0.94 0.94 0.94 0.97 0.95 0.95 0.95 0.97 0.97 0.97 0.97 0.97
Patient Nine 0.86 0.86 0.86 0.90 0.81 0.81 0.86 0.90 0.90 0.90 0.90 0.90 0.95 0.95 0.95 0.95
Follow table 7(k): The resultant (BP)3 (C)3 with (BP)i (C)j, i=j=1,2,3,4
(BP)3 (BP)3 (BP)1 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3 (BP)3
(C)4 (C)41 (01 (C)4 (C)41 (C)4 (C)41 (C)4 (C)41 (C)4 (C)41 (C)4 (C)41 (C)4 (C)41 (C)4
With With With With With With With With With With With With With With With With
(MHR)  (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.97 0.97 0.98 0.99 0.97 0.97 0.98 0.99 0.90 0.97 0.98 0.99 0.99 0.97 0.98 0.99
Patient Three 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Four 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99 0.88 0.88 0.91 0.99
Patient Five 0.90 0.90 0.90 0.92 0.90 0.90 0.90 0.92 0.90 0.90 0.90 0.92 0.95 0.95 0.95 0.95
Patient Six 0.94 0.95 0.97 1.00 0.94 0.95 0.97 1.00 0.94 0.95 0.97 1.00 1.00 1.00 1.00 1.00
Patient Seven 0.94 0.94 0.97 1.00 0.94 0.94 0.97 1.00 0.94 0.94 0.97 1.00 0.95 0.95 0.97 1.00
Patient Eight 0.94 0.94 0.94 0.94 0.94 0.94 0.94 0.97 0.95 0.95 0.95 0.97 0.97 0.97 0.97 0.97
Patient Nine 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96 0.96
Follow table 7(I): The resultant (BP)3 (C)4 with (BP)i (C)j, i=j=1,2,3,4
(BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4
©1 01 ©1 ©1 1 1 1 ©1 1 1 1 1 1 (o1 1 (o1
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With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 100 100 1.00 100 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 099 099 099 099 099 099 0.99 099 099 099 099 099 099 099 099
Patient Three | 089 089 089 090 089 089 0.89 089 089 089 090 090 090 090 090
Patient Four 097 097 097 099 097 097 097 097 097 097 099 097 097 097 099
Patient Five 088 088 090 092 088 088 0.90 088 088 090 092 095 095 095 095
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
PatientSeven | 097 097 097 100 097 097 097 097 097 097 100 097 097 097 1.00
PatientEight | 097 097 097 097 097 097 0097 097 097 097 097 097 097 097 097
Patient Nine 094 094 094 094 094 094 094 094 094 094 094 095 095 095 095
Follow table 7(m): The resultant (BP)4 (C)1 with (BP)i (C)j, i=j=1,2,3,4
(BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4
(©)2 ©)2 (©)2 (©)2 ©)2 ©)2 ©)2 ©2 (©)2 ©2 (©)2 (©2 (€)2 (©2 (©)2
With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 100 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 099 099 099 099 099 099 0.99 099 099 099 099 099 099 099 099
Patient Three | 089 089 089 090 089 089 0.89 089 089 089 090 090 090 090 090
Patient Four 097 097 097 099 097 097 0097 097 097 097 099 097 097 097 099
Patient Five 088 088 090 092 08 088 0.90 088 088 090 092 095 095 095 095
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
PatientSeven | 097 097 097 1.00 097 097 097 097 097 097 100 097 097 097 1.00
PatientEight | 097 097 097 097 097 097 0097 097 097 097 097 097 097 097 097
Patient Nine 094 094 094 094 094 094 094 094 094 094 094 095 095 095 095
Follow table 7(n): The resultant (BP)4 (C)2 with (BP)i (C)j, i=j=1,2,3,4
(BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4
(©)3 ©3 (©)3 (©)3 ©3 ©3 ©3 ©3 (©)3 ©3 (©)3 (©3 (©)3 (©3 (©)3
With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 099 099 099 099 099 099 0.99 099 099 099 099 099 099 099 099
Patient Three | 089 089 089 090 089 089  0.89 089 089 089 090 090 090 090 090
Patient Four 097 097 097 099 097 097 097 097 097 097 099 097 097 097 099
Patient Five 088 088 090 092 088 088 0.90 088 088 090 092 095 095 095 095
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
PatientSeven | 097 097 097 100 097 097 0097 097 097 097 100 097 097 097 1.00
PatientEight | 097 097 097 097 097 097 0097 097 097 097 097 097 097 097 097
Patient Nine 094 094 094 094 094 094 094 094 094 094 094 095 095 095 095
Follow table 7(0): The resultant (BP)4 (C)3 with (BP)i (C)j, i=j=1,2,3,4
(BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4 (BP)4
(©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4 (©)4
With With With With With With With With With With With With With With With
(MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR) (MHR)
1 1 1 1 2 2 2 3 3 3 3 4 4 4 4
(BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)1 (BS)2 (BS)3 (BS)4 (BS)1 (BS)2 (BS)3 (BS)4

14



Mohammed M. Khalaf

Patient one 1.00 100 100 1.00 100 1.00 1.00 1.00
Patient Two 099 099 099 099 099 099 099 099
Patient Three | 100 1.00 1.00 100 100 1.00 100 1.00
Patient Four 097 097 097 099 097 097 097 099
Patient Five 090 090 090 092 090 090 090 092
Patient Six 1.00 100 100 1.00 100 100 1.00 1.00
Patient Seven | 097 097 097 100 097 097 097 1.00
PatientEight | 097 097 097 097 097 097 097 097
Patient Nine 096 096 09 09 096 096 096 096

1.00
0.99
1.00
0.97
0.90
1.00
0.97
0.97
0.96

1.00
0.99
1.00
0.97
0.90
1.00
0.97
0.97
0.96

Follow table 7(p): The resultant (BP)4 (C)4 with (BP)i

Now from tables 6 and 7, we will have 256 4 =1024 parameters.

Now we take from table 7(a) and table 6

1.00
0.99
1.00
0.97
0.90
1.00
0.97
0.97
0.96

1.00
0.99
1.00
0.99
0.92
1.00
1.00
0.97
0.96

1.00
0.99
1.00
0.97
0.95
1.00
0.97
0.97
0.96

(Q)j, i=j=1,2,3,4

((BP)l (01 with (MHR)1 (BS)1> with (OP)1 (Age) ,

((BP)l (01 with (MHR)1 (BS)1> with (OP)2 (Age),

((BP)l (01 with (MHR)1 (BS)1

((BP)l ()1 with (MHR)1 (BS)1

We get the following tables (8 and follows tables 8), (and figures 4-11).

Respectively we take from table 7(b) and table 6

with (OP)3 (Age),

with (OP)4 (Age),

((BP)l (C)2 with (MHR)1 (BS)1> with (OP)1 (Age) ,

((BP)l (C)2 with (MHR)1 (BS)1

((BP)l (C)2 with (MHR)1 (BS)1

with (OP)2 (Age),

with (OP)3 (Age),

1.00
0.99
1.00
0.97
0.95
1.00
0.97
0.97
0.96

15

1.00
0.99
1.00
0.97
0.95
1.00
0.97
0.97
0.96

1.00
0.99
1.00
0.99
0.95
1.00
1.00
0.97
0.96
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((BP)l (0)2 with (MHR)1 (BS)1> with (OP)4 (Age),

We get the following tables (9 and follows tables 9), (and figures 12-19).

By the same model,

We take from table 7(c) and table 6, we get the following tables (10 and follows tables 10),
(and figures 20-27).

We take from 7(d) and table 6, we get the following tables (11 and follows tables 11), (and
figures 28-35).

We take from 7(e) and table 6, we get the following tables (12 and follows tables 12), (and
figures 36-43).

We take from 7(f) and table 6, we get the following tables (13 and follows tables 13), (and
figures 44-51).

We take from 7(g) and table 6, we get the following tables (14 and follows tables 14), (and
figures 52-59).

We take from 7(h) and table 6, we get the following tables (15 and follows tables 15),, (and
figures 60-67).

We take from 7(i) and table 6, we get the following tables (16 and follows tables 16) , (and
figures 68-75).

We take from 7(j) and table 6, we get the following tables (17 and follows tables 17), (and
figures 76-83).

We take from 7(k) and table 6, we get the following tables (18 and follows tables 18), ,
(and figures 84-91).

We take from 7(I) and table 6, we get the following tables (19 and follows tables 19), (and
figures 92-99).

We take from 7(m) and table 6, we get the following tables (20 and follows tables 20), (and
figures 100-107).

We take from 7(n) and table 6, we get the following tables (21 and follows tables 21), (and
figures 108-115).
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We take from 7(0) and table 6, we get the following tables (22 and follows tables 22), (and
figures 116-123).

We take from 7(p) and table 6, we get the following tables (23 and follows tables 23), (and
figures 124-131).

((BP)1 (O)1
with (MHR)1
(BS)1) with
(OP)1 (Age)

((BP)1 (O)1
with (MHR)1
(BS)1) with
(0P)2 (Age)

with (MHR)1

((BP)1 (O)1

(BS)1) with
(OP)3 (Age)

((BP)1 (O)1
with (MHR)1
(BS)1) with
(OP)4 (Age)

((BP)1 (O)1
with (MHR)1

(BS)2 with

(OP)1 (Age)

((BP)1 (O)1
with (MHR)1
(BS)2) with
(OP)2 (Age)

((BP)1 (O)1
with (MHR)1
(BS)2) with
(OP)3 (Age)

((BP)1 (O)1
with (MHR)1
(BS)2) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

Table 8: (The resultant ((BP)1 (C)1 with ((MHR)1 (BS)j, j=1,2) with (OP)i

0.75
0.90
0.75
0.85
0.75
0.82
0.82
0.88
0.75

0.75
0.90
0.75
0.85
0.75
0.82
0.82
0.88
0.75

0.80
0.94
0.85
0.85
0.80
0.82
0.82
0.92
0.80

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

0.84
0.97
0.78
0.85
0.80
0.95
0.92
0.88
0.75

0.84
0.97
0.78
0.85
0.80
0.95
0.92
0.88
0.75

0.84
0.97
0.85
0.85
0.80
0.95
0.92
0.92
0.80

values

1.2
1 1 L T—— —7 —
0.8 | ——
0.6
0.4
0.2
0
U O U = U X c ¥ W
c 32 0 2 >2Hn o g c
b 2 o = £ g4 -
c c o c £ 9 o
@ 0 c o T c S o
@ Q5 o 9
E oo RS2 ER
Patients

((BP)1 (C)1 with
(MHR)1 (BS)1)
with (OP)1 (Age)

((BP)1 (C)1 with
(MHR)1 (BS)1)
with (OP)2 (Age)

((BP)1 (C)1 with
(MHR)1 (BS)1)
with (OP)3 (Age)

Figure 4 : (The resultant ((BP)1 (C)1 with (MHR)1

((BP)1 (O)1

with (MHR)1

(BS)3) with

(OP)1 (Age)

((BP)1 (O)1

with (MHR)1

(BS)3) with
(OP)2 (Age)

((BP)1 (O)1
with (MHR)1
(BS)3) with
(OP)3 (Age)

((BP)1 (C)1
with (MHR)1
(BS)3) with
(OP)4 (Age)

(BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

((BP)1 (Q)

with (MHR)1

(BS)4 with

(OP)1 (Age)

1 ((BP)1 (C)1
with (MHR)1
(BS)4) with
(0P)2 (Age)

((BP)1 (O)1
with (MHR)1
(BS)4) with
(0P)3 (Age)

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

(Age), i=1,2,3,4

((BP)1 (O)1
with (MHR)1
(BS)4) with
(0P)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.90
0.98
0.82
0.91
0.90
0.97
0.97
0.90
0.86

0.90
0.98
0.82
0.91
0.90
0.97
0.97
0.90
0.86

0.90
0.98
0.85
0.91
0.90
0.97
0.97
0.92
0.86

1.00
0.98
0.90
1.00
1.00
1.00
0.97
1.00
1.00

1.00
0.99
0.90
0.99
0.92
1.00
1.00
0.97
0.90

1.00
0.99
0.90
0.99
0.92
1.00
1.00
0.97
0.90

1.00
0.99
0.90
0.99
0.92
1.00
1.00
0.97
0.90

1.00
0.99
0.90
1.00
1.00
1.00
1.00
1.00
1.00

Follow table 8: (The resultant ((BP)1 (C)1 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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values

1.2
o8 P~ m= ——((BP)1 (C)1 with
0.6 (MHR)1 (BS)3)
o4 with (OP)1 (Age)
0 ((BP)1 (C)1 with
388355 ¢8¢%¢8 (MHR)1 (BS)3)
e 2 EL L E YW Z with (OP)2 (Age)
S 525622t %
22 25 R & Lo s  —(BP)N (Clwith
aesa > BLa (MHR)1 (BS)3)
Patients with (OP)3 (Age)

Figure 5: (The resultant ((BP)1 (C)1 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)1 (O)1
with (MHR)2
(BS)1) with

(OP)1 (Age)

((BP)1 (O)1
with (MHR)2
(BS)2) with

(OP)3 (Age)

((BP)1 (O)1
with (MHR)2
(BS)1) with

(0P)2 (Age)

((BP)1 (O)1
with (MHR)2
(BS)1) with

(OP)3 (Age)

((BP)1 ()1
with (MHR)2
(BS)1) with
(OP)4 (Age)

((BP)1 (O)1
with (MHR)2
(BS)2 with

(OP)1 (Age)

((BP)1 (O)1
with (MHR)2
(BS)2) with

(OP)2 (Age)

((BP)1 (O)1
with (MHR)2
(BS)2) with

(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.81
0.90
0.80
0.85
0.75
0.82
0.82
0.88
0.81

0.81 0.81 1.00 0.84 0.84 0.84
0.90 0.90 0.90 0.97 0.97 0.97
0.80 0.85 0.90 0.80 0.80 0.85
0.85 0.85 1.00 0.85 0.85 0.85
0.75 0.80 1.00 0.80 0.80 0.80
0.82 0.82 1.00 0.95 0.95 0.95
0.82 0.82 0.92 0.92 0.92 0.92
0.88 0.92 1.00 0.88 0.88 0.92
0.81 0.81 1.00 0.81 0.81 0.81

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

Follow table 8: (The resultant (BP)1 (C)1 with ((MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4

0.8
0.6
0.4
0.2

-

Patient one |* % % Y

B ((BP)1 (C)1 with (MHR)2
(BS)1) with (OP)1 (Age)

H ((BP)1 (C)1 with (MHR)2
(BS)1) with (OP)2 (Age)

® ((BP)1 (C)1 with (MHR)2

e £ (BS)1) with (OP)3 (Age)

S o o e

E £ 3 L%’ z g Ergr ® ((BP)1 (C)1 with (MHR)2

= = o S :

.g i g ag _5 T (BS)1) with (OP)4 (Age)

b 2% 3 © ‘5 5 5 ® ((BP)1 (C)1 with (MHR)2
o = 5 5 5 (BS)2 with (OP)1 (Age)

a.

Figure 6: (The resultant ((BP)1 (C)1 with ((MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4

((BP)1 (€)1
with (MHR)2
(BS)3) with
(OP)1 (Age)

((BP)1 (C)1
with (MHR)2
(BS)4) with
(0P)3 (Age)

((BP)1 (€)1
with (MHR)2
(BS)3) with
(OP)2 (Age)

((BP)1 (C)1
with (MHR)2
(BS)3) with
(OP)3 (Age)

((BP)1 (C)1
with (MHR)2
(BS)3) with
(OP)4 (Age)

((BP)1 (C)1
with (MHR)2
(BS)4) with
(OP)1 (Age)

((BP)1 (C)1
with (MHR)2
(BS)4) with
(0P)2 (Age)

((BP)1 (C)1
with (MHR)2
(BS)4) with
(OP)4 (Age)
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Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.81
0.90
0.80
0.85
0.75
0.82
0.82
0.88
0.81

0.81
0.90
0.80
0.85
0.75
0.82
0.82
0.88
0.81

0.81
0.94
0.85
0.85
0.80
0.82
0.82
0.92
0.81

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

0.84
0.97
0.80
0.85
0.80
0.95
0.92
0.88
1.00

0.84
0.97
0.80
0.85
0.80
0.95
0.92
0.88
1.00

0.84
0.97
0.85
0.85
0.80
0.95
0.92
0.92
1.00

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

Follow table 8: (The resultant ((BP)1 (C)1 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4

1.2
1
0.8 /
0.6 /
0.4 /
02 +—1
O B T T T T T
(4 () \S
& «‘$O & &S
X K X X
'\‘?}\ '\Q’Q & '\Q'Q QQ’Q

= (BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)1 (Age)

——(BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)2 (Age)

——(BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)3 (Age)

= (BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)4 (Age)

Figure 7: (The resultant ((BP)1 (C)1 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)1 (O)1
with (MHR)3
(BS)1) with
(OP)1 (Age)

((BP)1 ()1
with (MHR)3
(BS)1) with
(OP)2 (Age)

((BP)1 (O)1
with (MHR)3
(BS)1) with
(OP)3 (Age)

((BP)1 (O)1
with (MHR)3
(BS)1) with
(OP)4 (Age)

((BP)1 (C)1
with (MHR)3

(BS)2w

(OP)1 (Age)

((BP)1 (O)1
with (MHR)3
ith (BS)2) with
(OP)2 (Age)

((BP)1 (O)1
with (MHR)3
(BS)2) with
(OP)3 (Age)

((BP)1 (O)1
with (MHR)3
(BS)2) with
(0P)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.86
0.90
0.86
0.85
0.77
0.86
0.90
0.95
0.90

0.86
0.90
0.86
0.85
0.77
0.86
0.90
0.95
0.90

0.86
0.94
0.86
0.85
0.80
0.86
0.90
0.95
0.90

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

0.86
0.97
0.86
0.85
0.80
0.95
0.92
0.95
0.90

0.86
0.97
0.86
0.85
0.80
0.95
0.92
0.95
0.90

0.86
0.97
0.86
0.85
0.80
0.95
0.92
0.95
0.90

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

Follow table 8: (The resultant ((BP)1 (C)1 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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——((BP)1 (C)1 with
(MHR)4 (BS)3) with
(OP)1 (Age)

((BP)1 (C)1 with
(MHR)4 (BS)3) with
(OP)2 (Age)

1.02
1 4 —
oo NP K
0.96 -
0.94 \\— /
0.92 -
0.9 '
0.88
0.86
0.84 T T T T T T T T 1
(4 O (% ' @ & QO N4
N \'«$ & \\@ <<0° é{\\\ &c,\ @\e <<>Q\'S $\°
N S I R S A
& S LSS
R® QT & < ] P ® R

((BP)1 (C)1 with
(MHR)4 (BS)3) with
(OP)3 (Age)

——((BP)1 (C)1 with
(MHR)4 (BS)3) with
(OP)4 (Age)

Figure 8: (The resultant (BP)1 (C)1 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

((BP)L (1 ((BP)1 (O1  (BP)1(O1  ((BPL (AL  ((BP)L (1  ((BP)1 (O1  ((BP)L (O1  ((BP)L (O)1
with (MHR)3 with (MHR)3 with (MHR)3 with (MHR)3 with (MHR)3 with (MHR)3 with (MHR)3 with (MHR)3
(BS)3) with (BS)3) with (BS)3) with (BS)3) with (BS)4 with (BS)4) with (BS)4) with (BS)4) with
(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)
Patient one 0.90 0.90 0.90 1.00 1.00 1.00 1.00 1.00
Patient Two 0.98 0.98 0.98 0.98 0.99 0.99 0.99 0.99
Patient Three 0.86 0.86 0.86 0.90 0.90 0.90 0.90 0.90
Patient Four 0.91 0.91 0.91 1.00 0.99 0.99 0.99 1.00
Patient Five 0.90 0.90 0.90 1.00 0.92 0.92 0.92 1.00
Patient Six 0.97 0.97 0.97 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 1.00 1.00 1.00 1.00 1.00
Patient Eight 0.95 0.95 0.95 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.90 0.90 0.90 1.00 1.00 1.00 1.00 1.00

Follow table 8: (The resultant (BP)1 (C)1 with ((MHR)3 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4

1.02

0.96

1 +—
0.98 -

——((BP)1 (C)1 with
(MHR)4 (BS)3) with
(OP)1 (Age)

((BP)1 (C)1 with

0.94

0.92
0.9

0.88

(MHR)4 (BS)3) with
(OP)2 (Age)

((BP)1 (C)1 with

0.86
0.84

(MHR)4 (BS)3) with
(OP)3 (Age)

——((BP)1 (C)1 with
(MHR)4 (BS)3) with
(OP)4 (Age)

Figure 9: (The resultant (BP)1 (C)1 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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((BP)1 (C)1
with (MHR)4
(BS)1) with
(OP)1 (Age)

((BP)1 (C)1
with (MHR)4
(BS)1) with
(OP)2 (Age)
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((BP)1 (C)1
with (MHR)4
(BS)1) with
(OP)3 (Age)

((BP)1 (C)1
with (MHR)4
(BS)1) with
(OP)4 (Age)

((BP)1 (O)1
with (MHR)4
(BS)2 with

(OP)1 (Age)

((BP)1 (O)1
with (MHR)4
(BS)2) with
(OP)2 (Age)

((BP)1 (O)1
with (MHR)4
(BS)2) with
(OP)3 (Age)

((BP)1 (O)1
with (MHR)4
(BS)2) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

1.00
0.99
0.90
0.85
0.95
1.00
0.95
0.97
0.95

1.00
0.99
0.90
0.85
0.95
1.00
0.95
0.97
0.95

1.00 1.00 1.00 1.00
0.99 0.99 0.97 0.97
0.90 0.90 0.90 0.90
0.85 1.00 0.85 0.85
0.95 1.00 0.95 0.95
1.00 1.00 1.00 1.00
0.95 0.95 0.95 0.95
0.97 1.00 0.97 0.97
0.95 1.00 0.95 0.95

1.00
0.97
0.90
0.85
0.95
1.00
0.95
0.97
0.95

1.00
0.97
0.90
1.00
1.00
1.00
0.95
1.00
1.00

Follow table 8: (The resultant ((BP)1 (C)1 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

1.02
1 4

0.98 - _— N /  ——((BP)1 (C)1 with

0.96 - —— N (MHR)4 (BS)3) with

0.94 \7 7 (OP)1 (Age)

0.92 -

0.9 L — ((BP)1 (C)1 with
0.88 (MHR)4 (BS)3)
0.86 with (OP)2 (Age)
0-84 T T T T T T T T .

R R I === ((BP)1 (C)1 with
. N .
S EREC @ E F P ® S (MHR)4 (BS)3)

S LSS RS with (OP)3 (Age)
X R QN
W Q'z’,‘ M R Q& P ?

Figure 10: (The resultant ((BP)1 (C)1 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

((BP)1 ()1
with (MHR)4
(BS)3) with
(OP)1 (Age)

((BP)1 ()1
with (MHR)4
(BS)3) with
(OP)2 (Age)

((BP)1 ()1
with (MHR)4
(BS)3) with
(OP)3 (Age)

((BP)1 (O)1
with (MHR)4
(BS)3) with
(OP)4 (Age)

((BP1 (O)1
with (MHR)4
(BS)4 ) with
(OP)1 (Age)

((BP1 (O)1
with (MHR)4
(BS)4) with
(OP)2 (Age)

((BP)1 (O)1
with (MHR)4
(BS)4) with
(OP)3 (Age)

((BP)1 (O)1
with (MHR)4
(BS)4) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

1.00
0.98
0.90
0.91
0.95
1.00
0.97
0.97
0.95

1.00
0.98
0.90
0.91
0.95
1.00
0.97
0.97
0.95

1.00 1.00 1.00 1.00
0.98 0.98 0.99 0.99
0.90 0.90 0.90 0.90
0.91 1.00 0.99 0.99
0.95 1.00 0.95 0.95
1.00 1.00 1.00 1.00
0.97 0.97 1.00 1.00
0.97 1.00 0.97 0.97
0.95 1.00 0.95 0.95

1.00
0.99
0.90
0.99
0.95
1.00
1.00
0.97
0.95

1.00
0.99
0.90
1.00
1.00
1.00
1.00
1.00
1.00

Follow table 8: (The resultant ((BP)1 (C)1 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age), i=1,2,3,4
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——((BP)1 (C)1 with
(MHR)4 (BS)3) with
(OP)1 (Age)

((BP)1 (C)1 with

(MHR)4 (BS)3)
with (OP)2 (Age)

e ((BP)1 (C)1 with
(MHR)4 (BS)3)
with (OP)3 (Age)

Figure11 : (The resultant ((BP)1 (C)1 with ((MHR)4 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)1 (C)2
with (MHR)1
(BS)2 with

(OP)1 (Age)

((BP)1 (C)2
with (MHR)1
(BS)2) with

(OP)2 (Age)

((BP)1 (C)2
with (MHR)1
(BS)2) with

(OP)3 (Age)

((BP)1 (C)2
with (MHR)1
(BS)2) with

(OP)4 (Age)

((BP)L ()2 ((BP)1 (C)2  ((BP)1 (C)2  ((BP)1 (C)2
with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1
(BS)1) with (BS)1) with (BS)1) with (BS)1) with
(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)
Patient one 0.75 0.75 0.80 1.00
Patient Two 0.90 0.90 0.94 0.97
Patient Three 0.75 0.75 0.85 0.90
Patient Four 0.85 0.85 0.85 1.00
Patient Five 0.75 0.75 0.80 1.00
Patient Six 0.97 0.97 0.97 1.00
Patient seven 0.82 0.82 0.82 0.92
Patient Eight 0.88 0.88 0.92 1.00
Patient Nine 0.75 0.75 0.80 1.00

Table 9: (The resultant ((BP)1

(C)2 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

0.84 0.84 0.84
0.97 0.97 0.97
0.78 0.78 0.85
0.85 0.85 0.85
0.80 0.80 0.80
0.97 0.97 0.97
0.92 0.92 0.92
0.88 0.88 0.92
0.75 0.75 0.80
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(OP)2 (Age)

———BP)1 C)2with (MHR)1
(BS)3) with (OP)3
(Age)

——((BP)1 (C)2 with
(MHR)1 (BS)3) with
(OP)4 (Age)

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

Figure 12: (The resultant ((BP)1 (C)2 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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((BP)1 (C)2 ((BP)1 (C)2 BP)1 C)2with  ((BP)1 (C)2 BP)1(C)2with  ((BP)1 (C)2 ((BP)1(C)2 ((BP)1(C)2
with (MHR)1 with (MHR)1 (MHR)1 with (MHR)1 (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1
(BS)3) with (BS)3) with (BS)3) with (BS)3) with (BS)4 with (BS)4) with (BS)4) with (BS)4) with
(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)
Patient one 0.90 0.90 0.90 1.00 1.00 1.00 1.00 1.00
Patient Two 0.98 0.98 0.98 0.98 0.99 0.99 0.99 0.99
Patient Three 0.82 0.82 0.85 0.90 0.90 0.90 0.90 0.90
Patient Four 0.91 0.91 0.91 1.00 0.99 0.99 0.99 1.00
Patient Five 0.90 0.90 0.90 1.00 0.92 0.92 0.92 1.00
Patient Six 0.97 0.97 0.97 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 1.00 1.00 1.00 1.00
Patient Eight 0.90 0.90 0.92 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.86 0.86 0.86 1.00 0.90 0.90 0.90 1.00

Follow table 9: (The resultant ((BP)1 (C)2 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

(The resultant ((BP)1 (C)2 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),
i=1,2,3,4

1 m ((BP)1 (C)2 with (MHR)1
g 08 ' (BS)3) with (OP)1 (Age)
206 o
204 .'., m ((BP)1 (C)2 with (MHR)1
02 ra (BS)3) with (OP)2 (Age)
0 M s
Voo L e A BP)1 C)2with (MHR)1
5 g o398 xc L 7 (BS)3) with (OP)3 (Age)
sSeEEGAWZ = ((BP)1 (C)2 with (MHR)1
EE2ERSE5ESS (BS)3) with (OP)4  (Age)
© n a S BB
- 588 m BP)1(C)2with (MHR)1
Pati (BS)4 with (OP)1 (Age)
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Figure 13: (The resultant ((BP)1 (C)2 with ((MHR)1 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2
with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2
(BS)1) with (BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with (BS)2) with
(OP)1 (Age) (OP)2 (Age) (OP)3 (Age) (OP)4 (Age) (OP)1 (Age) (OP)2 (Age) (OP)3 (Age) (OP)4 (Age)
Patient one 0.81 0.81 0.81 1.00 0.84 0.84 0.84 1.00
Patient Two 0.90 0.90 0.94 0.97 0.97 0.97 0.97 0.97
Patient Three 0.80 0.80 0.85 0.90 0.80 0.80 0.85 0.90
Patient Four 0.85 0.85 0.85 1.00 0.85 0.85 0.85 1.00
Patient Five 0.75 0.75 0.80 1.00 0.80 0.80 0.80 1.00
Patient Six 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient seven 0.82 0.82 0.82 0.92 0.92 0.92 0.92 0.92
Patient Eight 0.88 0.88 0.92 1.00 0.88 0.88 0.92 1.00
Patient Nine 0.81 0.81 0.81 1.00 0.81 0.81 0.81 1.00

Follow table 9: (The resultant ((BP)1 (C)2 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 14: (The resultant ((BP)1 (C)2 with ((MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4

Mohammed M. Khalaf

1.2

values

0.4

0.2

The resultant ((BP)1 (C)2 with ((MHR)2 (BS)j, j=1,2) with (OP)i

(Age), i=1,2,3,4

N

(BP)1 (C)3 with
(MHR)2 (BS)3) with

(OP)1 (Age)

(BP)1 (C)3 with
(MHR)2 (BS)3) with

Patients

(OP)2 (Age)

((BP)1(C)2
with (MHR)2
(BS)3) with
(OP)1 (Age)

((BP)1(C)2
with (MHR)2
(BS)3) with
(0P)2 (Age)

((BP)1(C)2
with (MHR)2
(BS)3) with
(OP)3 (Age)

((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2
with (MHR)2 ~ with (MHR)2  with (MHR)2  with (MHR)2
(BS)3) with (BS)4) with (BS)4) with (BS)4) with

(OP)4 (Age) (OP)1 (Age) (OP)2 (Age) (OP)3 (Age)

((BP)1(C)2
with (MHR)2

(BS)4) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.94
0.98
0.82
0.91
0.90
0.97
0.97
0.90
0.86

0.94
0.98
0.82
0.91
0.90
0.97
0.97
0.90
0.86

0.94
0.98
0.85
0.91
0.90
0.97
0.97
0.92
0.86

1.00 1.00 1.00 1.00
0.98 0.99 0.99 0.99
0.90 0.90 0.90 0.90
1.00 0.99 0.99 0.99
1.00 0.92 0.92 0.92
1.00 1.00 1.00 1.00
0.97 1.00 1.00 1.00
1.00 0.97 0.97 0.97
1.00 0.90 0.90 0.90

1.00
0.99
0.90
1.00
1.00
1.00
1.00
1.00
1.00

Follow table 9: (The resultant ((BP)1 (C)2 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4

Figure 15: (The resultant ((BP)1 (C)2 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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((BP)1(C)2
with (MHR)3
(BS)1) with
(OP)1 (Age)
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((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2
with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3
(BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with

(OP)2 (Age) (OP)3 (Age) (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)

(OP)3 (Age)

((BP)1(C)2
with (MHR)3
(BS)2) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.86
0.90
0.86
0.85
0.77
0.97
0.90
0.95
0.90

0.86 0.86 1.00 0.86 0.86
0.90 0.94 0.97 0.97 0.97
0.86 0.86 0.90 0.86 0.86
0.85 0.85 1.00 0.85 0.85
0.77 0.80 1.00 0.80 0.80
0.97 0.97 1.00 0.97 0.97
0.90 0.90 0.92 0.92 0.92
0.95 0.95 1.00 0.95 0.95
0.90 0.90 1.00 0.90 0.90

0.86
0.97
0.86
0.85
0.80
0.97
0.92
0.95
0.90

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

Follow table 9: (The resultant ((BP)1 (C)2 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

The resultant ((BP)1 (C)2 with ((MHR)3 (BS)j, j=1,2) with (OP)i
(Age), i=1,2,3,4

(BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)1 (Age)

® (BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)2 (Age)

Patients

Figure 16: (The resultant ((BP)1 (C)2 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age), i=1,2,3,4

((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2 ((BP)1(C)2

with (MHR)3 ~ with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3 th (MHR)3

(BS)3) with (BS)3) with (BS)3) with (BS)3) with (BS)4 with (BS)4) with (BS)4) with W]‘;SE, )h

(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age) (BS)4) wit

(OP)4 (Age)
Patient one 0.90 0.90 0.90 1.00 1.00 1.00 1.00 1.00
Patient Two 0.98 0.98 0.98 0.98 0.99 0.99 0.99 0.99
Patient Three 0.86 0.86 0.86 0.90 0.90 0.90 0.90 0.90
Patient Four 0.91 0.91 0.91 1.00 0.99 0.99 0.99 1.00
Patient Five 0.90 0.90 0.90 1.00 0.92 0.92 0.92 1.00
Patient Six 0.97 0.97 0.97 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 1.00 1.00 1.00 1.00
Patient Eight 0.95 0.95 0.95 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.90 0.90 0.90 1.00 0.90 0.90 0.90 1.00

Follow table 9: (The resultant ((BP)1 (C)2 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 17: (The resultant (BP)1 (C)2 with ((MHR)3 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 9: (The resultant ((BP)1 (C)2 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age), i=1,2,3,4
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Figure 18: (The resultant ((BP)1 (C)2 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 9: (The resultant ((BP)1 (C)2 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

e (BP)1 (C)3 with
(MHR)2 (BS)3) with
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Figure 19: (The resultant ((BP)1 (C)2 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

(BP)1 (C)3
with (MHR)1
(BS)1) with
(OP)1 (Age)

(BP)1 (C)3
with (MHR)1
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(OP)2 (Age)

(BP)1 (C)3
with (MHR)1
(BS)1) with
(OP)3 (Age)

(BP)1 (C)3
with (MHR)1
(BS)1) with
(OP)4 (Age)

(BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3
with (MHR)T  with (MHR)1  with (MHR)1
(BS)2 with (BS)2) with (BS)2) with

(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)

(BP)1 (C)3
with (MHR)1
(BS)2) with
(0P)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.86
0.90
0.86
0.85
0.83
0.86
0.86
0.88
0.86

0.86
0.90
0.86
0.85
0.83
0.86
0.86
0.88
0.86

0.86
0.94
0.86
0.85
0.83
0.86
0.86
0.92
0.86

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

0.86 0.86 0.86
0.97 0.97 0.97
0.86 0.86 0.86
0.85 0.85 0.85
0.83 0.83 0.83
0.95 0.95 0.95
0.92 0.92 0.92
0.88 0.88 0.92
0.86 0.86 0.86

1.00
0.97
0.90
1.00
1.00
1.00
0.92
1.00
1.00

Table 10: (The resultant ((BP)1 (C)3 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 20: (The resultant ((BP)1 (C)3 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age), i=1,2,3,4
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(BP)1 (C)3
with (MHR)1
(BS)4) with

(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine
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0.98
0.86
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0.86
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0.86

0.90
0.98
0.86
0.91
0.90
0.97
0.97
0.92
0.86

1.00
0.98
0.90
1.00
1.00
1.00
0.97
1.00
1.00

1.00 1.00 1.00
0.99 0.99 0.99
0.90 0.90 0.90
0.99 0.99 0.99
0.92 0.92 0.92
1.00 1.00 1.00
1.00 1.00 1.00
0.97 0.97 0.97
0.90 0.90 0.90

1.00
0.99
0.90
1.00
1.00
1.00
1.00
1.00
1.00

Follow table 10: (The resultant (BP)1 (C)3 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

= (BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)1 (Age)

= (BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)2 (Age)

———(BP)1 (C)3 with

(MHR)2 (BS)3) with

) (OP)3 (Age)

——(BP)1 (C)3 with
(MHR)2 (BS)3) with
(OP)4 (Age)

Figure21 : (The resultant ((BP)1 (C)3 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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(BP)1 (C)3
with (MHR)2
(BS)1) with
(OP)1 (Age)

(BP)1 (C)3
with (MHR)2
(BS)1) with
(OP)2 (Age)
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(BP)1 (C)3
with (MHR)2
(BS)1) with
(OP)3 (Age)

(BP)1 (C)3
with (MHR)2
(BS)1) with
(OP)4 (Age)

(BP)1 (C)3 (BP)1 (C)3
with (MHR)2  with (MHR)2
(BS)2 with (BS)2) with

(OP)1 (Age)  (OP)2 (Age)

(BP)1 (C)3
with (MHR)2
(BS)2) with
(OP)3 (Age)

(BP)1 (C)3
with (MHR)2
(BS)2) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.86
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0.86
0.86
0.88
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0.86
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Follow table 10: (The resultant ((BP)1 (C)3 with ((MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4

——(BP)1 (C)3 with

(OP)1 (Age)
= (BP)1 (C)3 with

(OP)2 (Age)

——(BP)1 (C)3 with

(MHR)2 (BS)3) with

(OP)3 (Age)

——(BP)1 (C)3 with

(MHR)2 (BS)3) with

(OP)4 (Age)

(MHR)2 (BS)3) with

(MHR)2 (BS)3) with

Figure22: (The resultant (BP)1 (C)3 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

(BP)1 (C)3
with (MHR)2
(BS)3) with
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(BP)1 (C)3
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(BS)3) with
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(OP)3 (Age)
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(BS)3) with
(OP)4 (Age)

(BP)1 (C)3 (BP)1 (C)3
with (MHR)2  with (MHR)2
(BS)4) with (BS)4) with

(OP)1 (Age)  (OP)2 (Age)

(BP)1 (C)3
with (MHR)2
(BS)4) with
(0P)3 (Age)

(BP)1 (C)3
with (MHR)2
(BS)4) with
(0P)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.94
0.98
0.86
0.91
0.90
0.97
0.97
0.90
0.86

0.94
0.98
0.86
0.91
0.90
0.97
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0.86

0.94
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0.86
0.91
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0.86

1.00
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0.90
1.00
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1.00
1.00

1.00 1.00
0.99 0.99
0.90 0.90
0.99 0.99
0.92 0.92
1.00 1.00
1.00 1.00
0.97 0.97
0.90 0.90

1.00
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1.00
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1.00
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1.00
1.00

Follow table 10: (The resultant ((BP)1 (C)3 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age), i=1,2,3,4
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Figure 23: (The resultant ((BP)1 (C)3 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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(OP)3  (Age)
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Follow table 10: (The resultant ((BP)1 (C)3 with ((MHR)3 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 24: (The resultant ((BP)1 (C)3 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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(BS)3) with (BS)4 with (BS)4) with (BS)4) with
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Follow table 10: (The resultant ((BP)1 (C)3 with ((MHR)3 (BS)j,=3,4) with (OP)i (Age),i=1,2,3,4
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Patient Eight
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® ((BP)1(C)4 with (MHR)1
(BS)1) with (OP)1
(Age) 1

= ((BP)1(C)4 with (MHR)1
(BS)1) with (OP)2 (Age)
1

((BP)1(C)4 with (MHR)1
(BS)1) with (OP)3 (Age)
1

Figure25: (The resultant (BP)1 (C)3 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

(BP)1 (C)3
with (MHR)4
(BS)1) with
(OP)1 (Age)

(BP)1 (C)3
with (MHR)4
(BS)1) with
(0P)2 (Age)

(BP)1 (C)3
with (MHR)4
(BS)1) with
(OP)3 (Age)

(BP)1 (C)3
with (MHR)4
(BS)2) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

1.00
0.99
0.90
0.85
0.95
1.00
0.95
0.97
0.95

1.00
0.99
0.90
0.85
0.95
1.00
0.95
0.97
0.95

1.00
0.99
0.90
0.85
0.95
1.00
0.95
0.97
0.95

(BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3
with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4
(BS)1) with (BS)2 with (BS)2) with (BS)2) with
(OP)4 (Age) (OP)1 (Age) (OP)2 (Age) (OP)3 (Age)
1.00 1.00 1.00 1.00
0.99 0.97 0.97 0.97
0.90 0.90 0.90 0.90
1.00 0.85 0.85 0.85
1.00 0.95 0.95 0.95
1.00 1.00 1.00 1.00
0.95 0.95 0.95 0.95
1.00 0.97 0.97 0.97
1.00 0.95 0.95 0.95

1.00
0.97
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1.00
1.00
1.00
0.95
1.00
1.00

Follow table 10: (The resultant ((BP)1 (C)3 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age), i=1,2,3,4

31



Mohammed M. Khalaf

] \ e ((BP)1(C)4 with
0.95 % /\/ (MHR)1 (BS)1)
0.9 7 with (OP)1 (Age)
0.85 ‘ 1

0.8 = ((BP)1(C)4 with
0.75 T T T T T T T T 1 (MHR)]. (BS)l)
O 2 & @ oF & & @ with (OP)2 (Age
S \\@ <<0° &S é@ <<>5§ é\(\ (OP)2 (Age)
& \,& N ‘Q}{& \@0 <2 & & 1
’S'&\Q/ -\Q;(\ ,'QQ/ 'b‘} Qé' .\Q/Q ‘i.\e ;00
WP ¥R KT

Figure26: (The resultant (BP)1 (C)3 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

(BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3 (BP)1 (C)3
with (MHR)4 with (MHR)4 with (MHR)4 with (MHR)4 with (MHR)4 with (MHR)4 with (MHR)4 with (MHR)4
(BS)3) with (BS)3) with (BS)3) with (BS)3) with (BS)4 ) with (BS)4) with (BS)4) with (BS)4) with
(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.98 0.98 0.98 0.98 0.99 0.99 0.99 0.99
Patient Three 0.90 0.90 0.90 0.90 0.90 0.90 0.90 0.90
Patient Four 0.91 0.91 0.91 1.00 0.99 0.99 0.99 1.00
Patient Five 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 1.00 1.00 1.00 1.00
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00

Follow table 10: (The resultant ((BP)1 (C)3 with ((MHR)4 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4

® (BP)1 (C)3 with
(MHR)4 (BS)3) with
(OP)1 (Age)

® (BP)1 (C)3 with
(MHR)4 (BS)3) with
(OP)2 (Age)

® (BP)1 (C)3 with
(MHR)4 (BS)3) with
(OP)3 (Age)

Figure 27: (The resultant ((BP)1 (C)3 with ((MHR)4 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4

From table 7(d) we get the following tables (11 and follows tables 11)
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((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4
with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1
(BS)1) with (BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with (BS)2) with
(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.90 0.90 0.94 0.97 0.97 0.97 0.97 0.97
Patient Three 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Four 0.85 0.85 0.85 1.00 0.85 0.85 0.85 1.00
Patient Five 0.90 0.90 0.90 1.00 0.90 0.90 0.90 1.00
Patient Six 0.90 0.90 0.90 1.00 0.95 0.95 0.95 1.00
Patient seven 0.93 0.93 0.93 0.93 0.93 0.93 0.93 0.93
Patient Eight 0.90 0.90 0.92 1.00 0.90 0.90 0.92 1.00
Patient Nine 0.96 0.96 0.96 1.00 0.96 0.96 0.96 1.00

Table 11: (The resultant ((BP)1 (C)4 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

Patient one

T ———,

Patient Two
Patient Three

Patient Four
Patient Five
Patient Six
Patient seven

Patient Eight
Patient Nine

= ((BP)1(C)4 with

(MHR)1 (BS)1) with

(OP)1 (Age)
® ((BP)1(C)4 with

(MHR)1 (BS)1) with

(OP)2 (Age)
((BP)1(C)4 with

(MHR)1 (BS)1) with

(OP)3 (Age)

Figure 28: (The resultant ((BP)1 (C)4 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

((BP)1(C)4
with (MHR)1
(BS)3) with
(OP)1 (Age)

((BP)1(C)4
with (MHR)1
(BS)3) with
(0P)2 (Age)

((BP)1(C)4
with (MHR)1
(BS)3) with
(OP)3 (Age)

((BP)1(C)4
with (MHR)1
(BS)3) with
(OP)4 (Age)

((BP)1(C)4
with (MHR)1
(BS)4 with
(OP)1 (Age)

((BP)1(C)4
with (MHR)1
(BS)4) with
(0P)2 (Age)

((BP)1(C)4
with (MHR)1
(BS)4) with
(0P)3 (Age)

((BP)1(C)4
with (MHR)1
(BS)4) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

1.00
0.98
1.00
0.91
0.90
0.97
0.97
0.90
0.96

1.00
0.98
1.00
0.91
0.90
0.97
0.97
0.90
0.96

1.00
0.98
1.00
0.91
0.90
0.97
0.97
0.92
0.96

1.00
0.98
1.00
1.00
1.00
1.00
0.97
1.00
1.00

1.00
0.99
1.00
0.99
0.92
1.00
1.00
0.97
0.96

1.00
0.99
1.00
0.99
0.92
1.00
1.00
0.97
0.96

1.00
0.99
1.00
0.99
0.92
1.00
1.00
0.97
0.96

1.00
0.99
1.00
1.00
1.00
1.00
1.00
1.00
1.00

Follow table 11: (The resultant ((BP)1 (C)4 with ((MHR)1 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 29: (The resultant (BP)1 (C)4 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4 ((BP)1(C)4
with (MHR)2 ~ with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2
(BS)1) with (BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with (BS)2) with
(OP)1 (Age) (OP)2 (Age) (OP)3 (Age) (OP)4 (Age) (OP)1 (Age) (OP)2 (Age) (OP)3 (Age) (OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.90 0.90 0.94 0.97 0.97 0.97 0.97 0.97
Patient Three 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Four 0.85 0.85 0.85 1.00 0.85 0.85 0.85 1.00
Patient Five 0.90 0.90 0.90 1.00 0.90 0.90 0.90 1.00
Patient Six 0.90 0.90 0.90 1.00 0.95 0.95 0.95 1.00
Patient seven 0.93 0.93 0.93 0.93 0.93 0.93 0.93 0.93
Patient Eight 0.90 0.90 0.92 1.00 0.90 0.90 0.92 1.00
Patient Nine 0.96 0.96 0.96 1.00 0.96 0.96 0.96 1.00

Follow table 11: (The resultant (BP)1 (C)4 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure30: (The resultant ((BP)1 (C)4 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 31: (The resultant (BP)1 (C)4 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 32: (The resultant (BP)1 (C)4 with ((MHR)3 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 33: (The resultant (BP)1 (C)4 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 34: (The resultant (BP)1 (C)4 with ((MHR)3 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 35: (The resultant (BP)1 (C)4 with ((MHR)3 (BS)j,j=3,4)

Mohammed M. Khalaf

1.05 = ((BP)1(C)4 with
1 - (MHR)2 (BS)1) with
095 N\ (OP)1 (Age)
/\/ —— ((BP)1(C)4 with
0.9 y, (MHR)2 (BS)1) with
0.85 / (OP)2 (Age)
0.8 e ((BP)1(C)4 with
(MHR)2 (BS)1) with
075 T T T T T T T T 1 (OP)3 (Age)
8 - 3
o°®&«$°,\\é®e & ,\Q\\‘Q’ 6@\+ Q,A‘Z'(\Qo‘é\ é\“e «— ((BP)1(C)4 with
&\0&.&0.%& &é & q?e.e&%\@& ;&é (MHR)2 (BS)1) with
SO SR G SR (OP)4 (Age)

with (OP)i (Age), i=1,2,3,4

((BP)2 ()1 ((BP)2 ()1 ((BP)2 (O)1 ((BP)2 ()1 ((BP)2 (O)1 ((BP)2 (O)1 ((BP)2 (O)1 ((BP)2 (O)1
with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1
(BS)1) with (BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with (BS)2) with
(OP)1 (Age)  (OP)2 (Age) (OP)3 (Age) (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)
Patient one 0.80 0.80 0.80 1.00 0.84 0.84 0.84 1.00
Patient Two 0.91 0.91 0.94 0.97 0.97 0.97 0.97 0.97
Patient Three 0.92 0.92 0.92 0.92 0.82 0.82 0.85 0.90
Patient Four 0.86 0.86 0.86 1.00 0.86 0.86 0.86 1.00
Patient Five 0.75 0.75 0.80 1.00 0.80 0.80 0.80 1.00
Patient Six 0.82 0.82 0.82 1.00 0.95 0.95 0.95 1.00
Patient seven 0.92 0.92 0.92 0.92 0.92 0.92 0.92 0.92
Patient Eight 0.88 0.88 0.92 1.00 0.88 0.88 0.92 1.00
Patient Nine 0.75 0.75 0.80 1.00 0.75 0.75 0.80 1.00

Table 12: (The resultant (BP)2 (C)1 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4

= ((BP)2 (C)1 with
(MHR)4 (BS)3) with
(OP)1 (Age)

1.02
1 L —
e
0.98 A\— _—Af
0.96 —— 7 SN
\_ / .
0.94 \ 7
0.92 </
0.9
0.88
0.86 T T T T T T T T 1
¢ © 2 N ¢ F OS2
~N &,@ X & <<o° &Q\A &fo\ & 03‘5‘ &
S SO LSRR
SO I g N\
Q,b Q,b Q’s&\ Q’b Q'b Q’g‘\ Q,b Q’b

((BP)2 (C)1 with
(MHR)4 (BS)3) with
(OP)2 (Age)

——((BP)2 (C)1 with
(MHR)4 (BS)3) with
(OP)3 (Age)
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Figure 37: (The resultant (BP)2 (C)1 with ((MHR)1 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 38: (The resultant (BP)2 (C)1 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 39: (The resultant (BP)2 (C)1 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 40: (The resultant ((BP)2 (C)1 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 12: (The resultant ((BP)2 (C)1 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 41: (The resultant (BP)2 (C)1 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 12: (The resultant (BP)2 (C)1 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 42: (The resultant ((BP)2 (C)1 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 43: (The resultant (BP)2 (C)1 with ((MHR)4 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 44: (The resultant ((BP)2 (C)2 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 45: (The resultant (BP)2 (C)2 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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0.81
0.91
0.92
0.86
0.75
0.97
0.92
0.88
0.81

0.81
0.91
0.92
0.86
0.75
0.97
0.92
0.88
0.81

0.81
0.94
0.92
0.86
0.80
0.97
0.92
0.92
0.81

1.00
0.97
0.92
1.00
1.00
1.00
0.92
1.00
1.00

0.84
0.97
0.92
0.86
0.80
0.97
0.92
0.88
0.81

0.84 0.84
0.97 0.97
0.92 0.92
0.86 0.86
0.80 0.80
0.97 0.97
0.92 0.92
0.88 0.92
0.81 0.81

1.02

0.98

[

——((BP)2 (C)2 with

[

——((BP)2 (C)2 with

0.96

0.94

——((BP)2 (C)2 with

0.92

0.9

10

(MHR)4 (BS)3) with
(OP)1 (Age)

(MHR)4 (BS)3) with
(OP)2 (Age)

(MHR)4 (BS)3) with
(OP)3 (Age)

((BP)2 (C)2 with
(MHR)4 (BS)3) with
(OP)4 (Age)

1.00
0.97
0.92
1.00
1.00
1.00
0.92
1.00
1.00

Figure 46: (The resultant (BP)2 (C)2 with ((MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 47: (The resultant ((BP)2 (C)2 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure48: (The resultant ((BP)2 (C)2 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 49: (The resultant ((BP)2 (C)2 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)2 (C)2
with (MHR)4
(BS)1) with
(OP)1 (Age)

((BP)2 (C)2
with (MHR)4
(BS)1) with
(OP)2 (Age)

((BP)2 (C)2
with (MHR)4
(BS)1) with
(OP)3 (Age)

((BP)2 (C)2
with (MHR)4
(BS)1) with
(0P)4 (Age)

((BP)2 (C)2
with (MHR)4
(BS)2 with
(OP)1 (Age)

((BP)2 (C)2
with (MHR)4
(BS)2) with
(OP)2 (Age)

((BP)2 (C)2
with (MHR)4
(BS)2) with
(OP)3 (Age)

((BP)2 (€)2
with (MHR)4
(BS)2) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

1.00
0.99
0.92
0.86
0.95
1.00
0.95
0.97
0.95

1.00
0.99
0.92
0.86
0.95
1.00
0.95
0.97
0.95

1.00 1.00
0.99 0.99
0.92 0.92
0.86 1.00
0.95 1.00
1.00 1.00
0.95 0.95
0.97 1.00
0.95 1.00

1.00
0.97
0.92
0.86
0.95
1.00
0.95
0.97
0.95
Follow table 13: (The resultant ((BP)2 (C)2 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

1.00
0.97
0.92
0.86
0.95
1.00
0.95
0.97
0.95

1.00
0.97
0.92
0.86
0.95
1.00
0.95
0.97
0.95

1.00
0.97
0.92
1.00
1.00
1.00
0.95
1.00
1.00

47



Mohammed M. Khalaf

1.02
1 4 —
/
0.98 - ——— -\ —
0.96 — ~—
0.92 V
0.9
0.88
0-86 T T T T T T T T 1
¢ © 2 $ @ F &KL @
& < @ <<0\> RIS N
& A RO
I N A N S P
X Q Q@ \?/ X . Q X~
PP S S S R S
W R < ] Qq‘;- PO

= ((BP)2 (C)2 with

——((BP)2 (C)2 with

——((BP)2 (C)2 with

——((BP)2 (C)2 with

(MHR)4 (BS)3) with
(OP)1 (Age)

(MHR)4 (BS)3) with
(OP)2 (Age)

(MHR)4 (BS)3) with
(OP)3 (Age)

(MHR)4 (BS)3) with
(OP)4 (Age)

Figure 50: (The resultant (BP)2 (C)2 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 13: (The resultant (BP)2 (C)2 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 51: (The resultant (BP)2 (C)2 with ((MHR)4 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Patient one
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Patient Three
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Patient Eight

((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 (BP2(0)3
with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 ith (MHR) 1
(BS)1) with (BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with W]l35(2 .t)h
(OP)1 (Age) (0P)2 (Age) (OP)3 (Age) (0P)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age) (BS)2) wi
(OP)4 (Age)
0.86 0.86 0.86 1.00 0.86 0.86 0.86 1.00
0.91 0.91 0.94 0.97 0.97 0.97 0.97 0.97
0.92 0.92 0.92 0.92 0.82 0.82 0.85 0.90
0.86 0.86 0.86 1.00 0.86 0.86 0.86 1.00
0.83 0.83 0.83 1.00 0.83 0.83 0.83 1.00
0.86 0.86 0.86 1.00 0.95 0.95 0.95 1.00
0.92 0.92 0.92 0.92 0.92 0.92 0.92 0.92
0.88 0.88 0.92 1.00 0.88 0.88 0.92 1.00
0.86 0.86 0.86 1.00 0.86 0.86 0.86 1.00
Table 14: (The resultant ((BP)2 (C)3 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 52: (The resultant ((BP)2 (C)3 with (MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 (BP)2(C)3
with (MHR)1 ~ with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1 ith (MHR)1
(BS)3) with (BS)3) with (BS)3) with (BS)3) with (BS)4 with (BS)4) with (BS)4) with W]‘BS ) with
(OP)L (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age) (OP)I (Age)  (OP)2 (Age)  (OP)3 (Age) o)) Wi

(OP)4 (Age)
0.90 0.90 0.90 1.00 1.00 1.00 1.00 1.00
0.98 0.98 0.98 0.98 0.99 0.99 0.99 0.99
0.92 0.92 0.92 0.92 0.92 0.92 0.92 0.92
0.91 0.91 0.91 1.00 0.99 0.99 0.99 1.00
0.90 0.90 0.90 1.00 0.92 0.92 0.92 1.00
0.97 0.97 0.97 1.00 1.00 1.00 1.00 1.00
0.97 0.97 0.97 0.97 1.00 1.00 1.00 1.00
0.90 0.90 0.92 1.00 0.97 0.97 0.97 1.00
0.86 0.86 0.86 1.00 0.90 0.90 0.90 1.00

Patient Nine

Follow table 14: (The resultant ((BP)2 (C)3 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 53: (The resultant (BP)2 (C)3 with (MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 14: (The resultant (BP)2 (C)3 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 54: (The resultant ((BP)2 (C)3 with ((MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 14: (The resultant ((BP)2 (C)3 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 55: (The resultant ((BP)2 (C)3 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 14: (The resultant ((BP)2 (C)3 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 56: (The resultant (BP)2 (C)3 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 14: (The resultant ((BP)2 (C)3 with ((MHR)3 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 57: (The resultant ((BP)2 (C)3 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age), i=1,2,3,4
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((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3
with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4 ((BP)2(C)3
(BS))with  (BS))with  (BS))with  (BS)1) with (BS)2 with (BS)2)with  (BS)2) with “(’g;‘)(zl\)’[?vi)f
(OP)1 (Age) (OP)2 (Age) (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age) (OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.99 0.99 0.99 0.99 0.97 0.97 0.97 0.97
Patient Three 0.92 0.92 0.92 0.92 0.92 0.92 0.92 0.92
Patient Four 0.86 0.86 0.86 1.00 0.86 0.86 0.86 1.00
Patient Five 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00
Follow table 14: (The resultant ((BP)2 (C)3 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
1.02
L L ~ =((BP)2(C)3 with
/ (MHR)4 (BS)3) with
0.98 A\— _—Ai— (OP)1 (Age)
0.96 \ /_ . =—((BP)2(C)3 with
0.94 V / (MHR)4 (BS)3) with
0.92 7/ (OP)2 (Age)
0.9 ——((BP)2(C)3 with
0.88 (MHR)4 (BS)3) with
0.86 — (OP)3 (Age)
&0&(\‘“0/\%‘&&‘@& & Q@\: & 0@(‘&@0"’ ——((BP)2(C)3 with
& y;\e(\.e&” & & %“\0.05” .&o& & (MHR)4 (BS)3) with
SR LI R G (OP)4 (Age)

Figure 58: (The resultant ((BP)2 (C)3 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4

((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 ((BP)2(C)3 BP12(C)3
with (MHR)4  with (MHR)#  with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)2  with (MuR)a  (BPY2(0)
(BS)3)with  (BS)3)with  (BS)3)with  (BS)3)with  (BS)4)with  (BS)4)with  (BS)4)with Wgsg ,Jh‘*
(OP)L (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age) (OP)L (Age)  (OP)2 (Age)  (OP)3 (Age) Do) Wit
(OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.98 0.99 0.98 0.99 0.99 0.99 0.99 0.99
Patient Three 0.92 0.92 0.92 0.92 0.92 0.92 0.92 0.92
Patient Four 0.91 0.91 0.91 1.00 0.99 0.99 0.99 1.00
Patient Five 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 1.00 1.00 1.00 1.00
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00

Follow table 14: (The resultant ((BP)2 (C)3 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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= ((BP)2(C)3 with
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Figure 59: (The resultant (BP)2 (C)3 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)2 (C)4

with (MH
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((BP)2 (C)4
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(BS)1) with
(0P)3 (Age)
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(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)

((BP)2 (C)4

(BS)2) with

((BP)2 (C)4
with (MHR)1
(BS)2) with
(0P)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

1.00
0.91
1.00
0.86
0.90
0.90
0.93
0.90
0.96

1.00
0.91
1.00
0.86
0.90
0.90
0.93
0.90
0.96

1.00
0.94
1.00
0.86
0.90
0.90
0.93
0.92
0.96

1.00
0.97
1.00
1.00
1.00
1.00
0.93
1.00
1.00

1.00 1.00
0.97 0.97
1.00 1.00
0.86 0.86
0.90 0.90
0.95 0.95
0.93 0.93
0.90 0.90
0.96 0.96

1.00
0.97
1.00
0.86
0.90
0.95
0.93
0.92
0.96

1.00
0.97
1.00
1.00
1.00
1.00
0.93
1.00
1.00

Table 15: (The resultant ((BP)2 (C)4 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4

0.97

0.97

= ((BP)2 (C)4 with (MH

(BS)3) with (OP)2 (Age)

® ((BP)2 (C)4 with (MHR)4
(BS)3) with (OP)3 (Age)

= ((BP)2 (C)4 with (MHR)4
(BS)3) with (OP)4 (Age)

® ((BP)2 (C)4 with (MHR)4

(BS)4 ) with (OP)1
(Age)

R)4

Figure 60: (The resultant (BP)2 (C)4 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 15: (The resultant ((BP)2 (C)4 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

=—((BP)2 (C)4 with
(MHR)4 (BS)3)
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== ((BP)2 (C)4 with
(MHR)4 (BS)3)
with (OP)3 (Age)

=== ((BP)2 (C)4 with
(MHR)4 (BS)3)
with (OP)4 (Age)

Figure 61: (The resultant (BP)2 (C)4 with ((MHR)1 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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((BP)2 (C)4
with (MHR)2
(BS)2) with
(OP)3 (Age)
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Patient Five
Patient Six
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Patient Eight
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0.91
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1.00 1.00 1.00
0.97 0.97 0.97
1.00 1.00 1.00
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Follow table 15: (The resultant ((BP)2 (C)4 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

55



Mohammed M. Khalaf
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(MHR)4 (BS)3) with
(OP)4 (Age)

= ((BP)2 (C)4 with

(MHR)4 (BS)4)
with (OP)1 (Age)

Figure 62: (The resultant (BP)2 (C)4 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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(BS)3) with
(OP)1 (Age)
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(BP)2(C)4  ((BP2(C)4  ((BP)2(Q4  ((BP)2(C)4  ((BP)2 (C)4
with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2
(BS)3) with (BS)3) with (BS)4) with (BS)4) with (BS)4) with
(OP)3 (Age) (OP)4 (Age) (OP)1 (Age) (0P)2 (Age) (OP)3 (Age)

((BP)2 (C)4
with (MHR)2
(BS)4) with
(0P)4 (Age)

Patient one
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0.91
0.90
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0.97
0.90
0.96

1.00
0.98
1.00
0.91
0.90
0.97
0.97
0.90
0.96

1.00 1.00 1.00 1.00 1.00
0.98 0.99 0.99 0.99 0.99
1.00 1.00 1.00 1.00 1.00
0.91 0.99 0.99 0.99 0.99
0.90 0.92 0.92 0.92 0.92
0.97 1.00 1.00 1.00 1.00
0.97 0.97 1.00 1.00 1.00
0.92 1.00 0.97 0.97 0.97
0.96 1.00 0.96 0.96 0.96

1.00
0.99
1.00
0.99
0.92
1.00
1.00
1.00
1.00

Follow table 15: (The resultant ((BP)2 (C)4 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

0.97

0.97

® ((BP)2 (C)4 with (MHR)4
(BS)3) with (OP)2 (Age)

= ((BP)2 (C)4 with (MHR)4
(BS)3) with (OP)3 (Age)

® ((BP)2 (C)4 with (MHR)4
(BS)3) with (OP)4
(Age)

® ((BP)2 (C)4 with (MHR)4
(BS)4 ) with (OP)1
(Age)

Figure 63: (The resultant (BP)2 (C)4 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 15: (The resultant ((BP)2 (C)4 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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with (OP)3 (Age)

Figure 64: (The resultant ((BP)2 (C)4 with ((MHR)3 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
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0.91
0.90
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0.95
0.96

1.00
0.98
1.00
0.91
0.90
0.97
0.97
0.95
0.96

1.00
0.98
1.00
0.91
0.90
0.97
0.97
0.95
0.96

1.00
0.98
1.00
1.00
1.00
1.00
0.97
1.00
1.00

1.00 1.00
0.99 0.99
1.00 1.00
0.99 0.99
0.92 0.92
1.00 1.00
1.00 1.00
0.97 0.97
0.96 0.96

1.00
0.99
1.00
0.99
0.92
1.00
1.00
0.97
0.96

1.00
0.99
1.00
1.00
1.00
1.00
1.00
1.00
1.00

Follow table 15: (The resultant ((BP)2 (C)4 with ((MHR)3 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 65: (The resultant (BP)2 (C)4 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 15: (The resultant (BP)2 (C)4 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 66: (The resultant (BP)2 (C)4 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 15: (The resultant ((BP)2 (C)4 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

Patient Six=

Patient

Fiv

‘g,%tiéﬁt

i Patient
" Four

e

—o—((BP)2 (C)4 with

(MHR)4 (BS)3) with

(OP)1 (Age)

== ((BP)2 (C)4 with
(MHR)4 (BS)3)
with (OP)2 (Age)

== ((BP)2 (C)4 with
(MHR)4 (BS)3)
with (OP)3 (Age)

—>é=((BP)2 (C)4 with

(MHR)4 (BS)3) with

(OP)4 (Age)

Figure 67: (The resultant (BP)2 (C)4 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Patient seven
Patient Eight
Patient Nine

Table 16: (The resultant ((BP)3 (C)1 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age), i=1,2,3,4

0.94
0.97
0.88
0.88
0.82
0.94
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0.94
0.70
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0.88
0.88
0.82
0.94
0.94
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0.70

0.94
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0.82
0.94
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0.94
0.80

1.00
0.97
0.90
1.00
1.00
1.00
0.94
1.00
1.00

0.94 0.94
0.97 0.97
0.88 0.88
0.88 0.88
0.82 0.82
0.95 0.95
0.94 0.94
0.94 0.94
0.70 0.70

0.94
0.97
0.88
0.88
0.82
0.95
0.94
0.94
0.80

1.00
0.97
0.90
1.00
1.00
1.00
0.94
1.00
1.00
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Figure 68 : (The resultant ((BP)3 (C)1 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4

((BP)3 (O)1

((BP)3 (O)1

((BP)3 (O)1

((BP)3 (O)1

((BP)3 (O)1 ((BP)3 (O)1

((BP)3 ()1

((BP)3 (C)1

with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 with (MHR)1 h
(BS)3)with  (BS)3)with  (BS)3)with  (BS)3)with  (BS)4with  (BS)4)with  (BS)4)with "El‘gt;‘)g‘)’[vﬂvi{ll
(OP)1 (Age) (OP)2 (Age) (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age) (OP)4" (Age)
Patient one 0.94 0.94 0.94 1.00 1.00 1.00 1.00 1.00
Patient Two 0.98 0.98 0.98 0.98 0.99 0.99 0.99 0.99
Patient Three 0.88 0.88 0.88 0.90 0.90 0.90 0.90 0.90
Patient Four 0.91 0.91 0.91 1.00 0.99 0.99 0.99 1.00
Patient Five 0.90 0.90 0.90 1.00 0.92 0.92 0.92 1.00
Patient Six 0.97 0.97 0.97 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 1.00 1.00 1.00 1.00
Patient Eight 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00
Patient Nine 0.86 0.86 0.86 1.00 0.90 0.90 0.90 1.00

Follow table 16

: (The resultant ((BP)3 (C)1 with ((MHR)1 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 69: (The resultant ((BP)3 (C)1 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Patient seven
Patient Eight
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0.94
0.81
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0.97
0.88
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0.82
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0.81

1.00
0.97
0.90
1.00
1.00
1.00
0.94
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1.00
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0.97
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0.95
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0.81
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0.97
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0.81
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0.88
0.88
0.82
0.95
0.94
0.94
0.81

1.00
0.97
0.90
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1.00
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Follow table 16: (The resultant ((BP)3 (C)1 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 70: (The resultant ((BP)3 (C)1 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age), i=1,2,3,4
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(BS)4) with
(OP)4 (Age)
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Patient Three
Patient Four
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Patient Six
Patient seven
Patient Eight
Patient Nine

0.94
0.98
0.88
0.91
0.90
0.97
0.97
0.94
0.86

0.94
0.98
0.88
0.91
0.90
0.97
0.97
0.94
0.86

0.94
0.98
0.88
0.91
0.90
0.97
0.97
0.94
0.86

1.00
0.98
0.90
0.99
0.92
1.00
0.97
1.00
1.00

1.00
0.99
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1.00
0.97
0.90

1.00
0.99
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1.00
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Follow table 16: (The resultant ((BP)3 (C)1 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 71: (The resultant ((BP)3 (C)1 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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(BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with
(OP)2 (Age) (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)

((BP)3 (O)1
with (MHR)3
(BS)2) with
(OP)4 (Age)

Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

0.94
0.90
0.88
0.88
0.82
0.94
0.94
0.95
0.90

0.94
0.90
0.88
0.88
0.82
0.94
0.94
0.95
0.90

0.94 1.00 0.94 0.94 0.94
0.94 0.97 0.90 0.90 0.94
0.88 0.90 0.88 0.88 0.88
0.88 1.00 0.88 0.88 0.88
0.82 1.00 0.82 0.82 0.82
0.94 1.00 0.95 0.95 0.95
0.94 0.94 0.94 0.94 0.94
0.95 1.00 0.95 0.95 0.95
0.90 1.00 0.90 0.90 0.90

1.00
0.97
0.90
1.00
1.00
1.00
0.94
1.00
1.00

Follow table16: (The resultant ((BP)3 (C)1 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 72: (The resultant ((BP)3 (C)1 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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0.92
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1.00
1.00
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1.00

0.94 0.94 0.94 1.00 1.00
0.98 0.98 0.98 0.98 0.99
0.88 0.88 0.88 0.90 0.90
0.91 0.91 0.91 1.00 0.99
0.90 0.90 0.90 1.00 0.92
0.97 0.97 0.97 1.00 1.00
0.97 0.97 0.97 1.00 1.00
0.95 0.95 0.95 1.00 0.97
0.90 0.90 0.90 1.00 0.90
Follow table 16: (The resultant ((BP)3 (C)1 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 73 : (The resultant ((BP)3 (C)1 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Patient Three
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Patient Five
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Patient seven
Patient Eight
Patient Nine

1.00
0.99
0.90
0.88
0.95
1.00
0.95
0.97
0.95

1.00
0.99
0.90
0.88
0.95
1.00
0.95
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1.00
0.99
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1.00
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1.00
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1.00
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Follow table 16: (The resultant ((BP)3 (C)1 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 74: (The resultant ((BP)3 (C)1 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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(OP)2 (Age) (OP)3 (Age) (OP)4 (Age) (OP)1 (Age) (OP)2 (Age) (OP)3 (Age)
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(OP)4 (Age)
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Patient Three
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Patient Five
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Patient seven
Patient Eight
Patient Nine

1.00
0.99
0.90
1.00
1.00
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1.00
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1.00 1.00 1.00 1.00 1.00 1.00 1.00
0.98 0.98 0.98 0.98 0.99 0.99 0.99
0.90 0.90 0.90 0.90 0.90 0.90 0.90
0.91 0.91 0.91 1.00 0.99 0.99 0.99
0.95 0.95 0.95 1.00 0.95 0.95 0.95
1.00 1.00 1.00 1.00 1.00 1.00 1.00
0.97 0.97 0.97 0.97 1.00 1.00 1.00
0.97 0.97 0.97 1.00 0.97 0.97 0.97
0.95 0.95 0.95 1.00 0.95 0.95 0.95
Follow table 16: (The resultant ((BP)3 (C)1 with ((MHR)4 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 75: (The resultant ((BP)3 (C)1 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Table 17: (The resultant ((BP)3 (C)2 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 76: (The resultant ((BP)3 (C)2 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 77: (The resultant ((BP)3 (C)2 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 17: (The resultant ((BP)3 (C)2 with ((MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 78: (The resultant ((BP)3 (C)2 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 79: (The resultant ((BP)3 (C)2 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 80: (The resultant ((BP)3 (C)2 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 17: (The resultant ((BP)3 (C)2 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 81: (The resultant ((BP)3 (C)2 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 82: (The resultant ((BP)3 (C)2 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 17: (The resultant ((BP)3 (C)2 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 83: (The resultant ((BP)3 (C)2 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Table 18: (The resultant ((BP)3 (C)3 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 84: (The resultant ((BP)3 (C)3 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 18: (The resultant ((BP)3 (C)3 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 85: (The resultant ((BP)3 (C)3 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 86: (The resultant ((BP)3 (C)3 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 18: (The resultant ((BP)3 (C)3 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 87: (The resultant ((BP)3 (C)3 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 88: (The resultant ((BP)3 (C)3 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 89: (The resultant ((BP)3 (C)3 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 90: (The resultant ((BP)3 (C)3 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 91: (The resultant ((BP)3 (C)3 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Table 19: (The resultant ((BP)3 (C)4 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 92: (The resultant ((BP)3 (C)4 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 93: (The resultant ((BP)3 (C)4 with ((MHR)1 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 94: (The resultant ((BP)3 (C)4 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 95: (The resultant ((BP)3 (C)4 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 96: (The resultant ((BP)3 (C)4 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 19: (The resultant ((BP)3 (C)4 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 97: (The resultant ((BP)3 (C)4 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 19: (The resultant ((BP)3 (C)4 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 98: (The resultant ((BP)3 (C)4 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 19: (The resultant ((BP)3 (C)4 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 99: (The resultant ((BP)3 (C)4 with ((MHR)4 (BS)j,j=3,4) with (OP)i (Age),=1,2,3,4
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((BP)4 (C)1 ((BP)4 (C)1 ((BP)4 (C)1 ((BP)4 (O)1 ((BP)4 (C)1 ((BP)4 (C)1 ((BP)4 (C)1
with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MER)1  (BP)4(O)1
BS) ) with  (BS)Dwith  (BS))with  (BS)1)with  (BS)2 with (BS)2) with  (BS)2) with “(’g;‘)(zb)’[?vi)hl
(OP)1 (Age) (OP)2 (Age) (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age) (OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.99 0.99 0.99 0.99 0.99 0.99 0.99 0.99
Patient Three 0.89 0.89 0.89 0.90 0.89 0.89 0.89 0.90
Patient Four 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Five 0.88 0.88 0.88 1.00 0.88 0.88 0.88 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.92 0.97 0.97 0.97 0.92
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00
Table 20: (The resultant ((BP)4 (C)1 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
=¢=((BP)4 (C)1 with
Patient one (MHR)4 (BS)3) with
Patient S (OP)1 (Age)
N aPatient Two .
Nine/ \Q.SS . == ((BP)4 (C)1 with
. / . (MHR)4 (BS)3) with
Patient / 0.9 Patient
Eightg\{‘ “g' L Three (OP)2 (Age)
‘ <\ —4—((BP)4 (C)1 with
PatienF y ’. / ffatient (MHR)4 (BS)3) with
seven ‘i Four (OP)3 (Age)
Patient Six~ 7Patient Five —>=((BP)4 (C)1 with
(MHR)4 (BS)3) with
(OP)4 (Age)
Figure 100: (The resultant ((BP)4 (C)1 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
((BP)4 (C)1 ((BP)4 (C)1 ((BP)4 (C)1 ((BP)4 (O)1 ((BP)4 (O)1 ((BP)4 (O)1 ((BP)4 (O)1
with (MHR)1 ~ with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1 ((BP)4 (O)1
(BS)3)with  (BS)3)with  (BS)3)with  (BS)3)with  (BS)4 with (BS)4) with  (BS)4) with "Eg;‘)fl")’[:i)hl
(0P)1 (Age) (OP)2 (Age) (OP)3 (Age) (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age) (OP)4  (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.99 0.99 0.99 0.99 0.99 0.99 0.99 0.99
Patient Three 0.89 0.89 0.89 0.90 0.90 0.90 0.90 0.90
Patient Four 0.97 0.97 0.97 1.00 0.99 0.99 0.99 1.00
Patient Five 0.90 0.90 0.90 1.00 0.92 0.92 0.92 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 1.00 1.00 1.00 1.00
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00

Follow table 20: (The resultant ((BP)4 (C)1 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age), i=1,2,3,4
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Figure 101: (The resultant ((BP)4 (C)1 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 20: (The resultant ((BP)4 (C)1 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 102: (The resultant ((BP)4 (C)1 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age), i=1,2,3,4
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Follow table 20: (The resultant ((BP)4 (C)1 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 103: (The resultant ((BP)4 (C)1 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 20: (The resultant ((BP)4 (C)1 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 104: (The resultant (BP)4 (C)1 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 20: (The resultant ((BP)4 (C)1 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 105: (The resultant ((BP)4 (C)1 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Patient one
Patient Two
Patient Three
Patient Four
Patient Five
Patient Six
Patient seven
Patient Eight
Patient Nine

1.00 1.00
0.99 0.99
0.90 0.90
0.97 0.97
0.95 0.95
1.00 1.00
0.97 0.97
0.97 0.97
0.95 0.95

1.00
0.99
0.90
0.97
0.95
1.00
0.97
0.97
0.95

1.00
0.99
0.90
1.00
1.00
1.00
0.97
1.00
1.00

1.00
0.99
0.90
0.97
0.95
1.00
0.97
0.97
0.95

1.00 1.00
0.99 0.99
0.90 0.90
0.97 0.97
0.95 0.95
1.00 1.00
0.97 0.97
0.97 0.97
0.95 0.95

1.00
0.99
0.90
1.00
1.00
1.00
0.97
1.00
1.00

Follow table 20: (The resultant ((BP)4 (C)1 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 106: (The resultant ((BP)4 (C)1 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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(OP)1 (Age) (OP)2 (Age)

((BP)4 (O)1
with (MHR)4
(BS)3) with
(0P)3 (Age)

((BP)4 (O)1
with (MHR)4
(BS)3) with
(OP)4 (Age)

((BP)4 (O)1 ((BP)4 (O)1 ((BP)4 (O)1
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Follow table 20: (The resultant ((BP)4 (C)1 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 107 : (The resultant ((BP)4 (C)1 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Table 21: (The resultant ((BP)4 (C)2 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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0.97
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Figure 108: (The resultant ((BP)4 (C)2 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 21: (The resultant ((BP)4 (C)2 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 109: (The resultant ((BP)4 (C)2 with ((MHR)1 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)4 (C)2 ((BP)4 (€)2 ((BP)4 (C)2 ((BP)4 (€)2 ((BP)4 (C)2 ((BP)4 (€)2 ((BP)4 (C)2 ((BP)4 (C)2

with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2 with (MHR)2 ith (MHR)2

(BS)1) with (BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with W]‘;S(z .t)h
(OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age) (OP)L (Age)  (OP)2 (Age)  (OP)3 (Age) L)) Wi

(OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.99 0.99 0.99 0.99 0.99 0.99 0.99 0.99
Patient Three 0.89 0.89 0.89 0.90 0.89 0.89 0.89 0.90
Patient Four 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Five 0.88 0.88 0.88 1.00 0.88 0.88 0.88 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 0.97 0.97 0.97 0.97
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00

Follow table 21: (The resultant ((BP)4 (C)2 with ((MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 110: (The resultant ((BP)4 (C)2 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 21: (The resultant ((BP)4 (C)2 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 111 : (The resultant ((BP)4 (C)2 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 21: (The resultant ((BP)4 (C)2 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 112: (The resultant ((BP)4 (C)2 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age), i=1,2,3,4
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Follow table 21: (The resultant ((BP)4 (C)2 with ((MHR)3 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 113: (The resultant ((BP)4 (C)2 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 21: (The resultant ((BP)4 (C)2 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 114: (The resultant ((BP)4 (C)2 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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((BP)4 (C)2 ((BP)4 (C)2 ((BP)4 (C)2 ((BP)4 (C)2 ((BP)4 (C)2 ((BP)4 (C)2 ((BP)4 (C)2
with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4  with (MHR)4 ((BR)4 (C)2
(BS)3)with  (BS)3)with  (BS)3)with  (BS)3)with  (BS)4)with  (BS)4)with  (BS)4) with “(’]';;‘J%’I?vi)h‘*
(OP)1 (Age) (OP)2 (Age) (OP)3 (Age)  (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age) (OP)4" (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.99 0.99 0.99 0.99 0.99 0.99 0.99 0.99
Patient Three 0.90 0.90 0.90 0.90 0.90 0.90 0.90 0.90
Patient Four 0.97 0.97 0.97 1.00 0.99 0.99 0.99 1.00
Patient Five 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 1.00 1.00 1.00 1.00
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.95 0.95 0.95 1.00 0.95 0.95 0.95 1.00
Follow table 21: (The resultant ((BP)4 (C)2 with ((MHR)4 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Pa’iiep:c one E?)/IFI’_;E)Z‘(A(BS)B) with
Pat.lentv ‘ “S,Patient Two &
Nine/ \Q._95 == ((BP)4 (C)2 with
Patient> [ % Patient EE)AF:E)?Ag(S)S)3) with
Eight \‘ 1 Three
== ((BP)4 (C)2 with
Patien’F P / \ fatient (MHR)4 (BS)3) with
seven Four (OP)3 (Age)
Patient Six= 7Patient Five == ((BP)4 (C)2 with
(MHR)4 (BS)3) with
(OP)4 (Age)
Figure 115: (The resultant ((BP)4 (C)2 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
((BP)4 (C)3 ((BP)4 (C)3 ((BP)4 (C)3 ((BP)4 (C)3 ((BP)4 ()3 ((BP)4 (C)3 ((BP)4 (C)3
with (MHR)1 ~ with (MHR)T  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  with (MHR)1  ((BP)4 (O3
BS))with  (BS))with  (BS))with  (BS))with  (BS)2with  (BS)2)with  (BS)2) with V{gg)%’[aﬁl
(0P)1 (Age) (OP)2 (Age) (OP)3 (Age) (OP)4 (Age)  (OP)1 (Age)  (OP)2 (Age)  (OP)3 (Age) (OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.99 0.99 0.99 0.99 0.99 0.99 0.99 0.99
Patient Three 0.89 0.89 0.89 0.90 0.89 0.89 0.89 0.90
Patient Four 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Five 0.88 0.88 0.88 1.00 0.88 0.88 0.88 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 0.97 0.97 0.97 0.97
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.94 0.94 0.94 1.00 0.94 0.94 0.94 1.00

Table 22: (The resultant ((BP)4 (C)3 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 116: (The resultant ((BP)4 (C)3 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 22: (The resultant ((BP)4 (C)3 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 117: (The resultant ((BP)4 (C)3 with ((MHR)1 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 22: (The resultant ((BP)4 (C)3 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 118: (The resultant ((BP)4 (C)3 with (MHR)2 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 22: (The resultant ((BP)4 (C)3 with ((MHR)2 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 119 : (The resultant ((BP)4 (C)3 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 22: (The resultant ((BP)4 (C)3 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 120: (The resultant ((BP)4 (C)3 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 22: (The resultant ((BP)4 (C)3 with ((MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 121: (The resultant ((BP)4 (C)3 with (MHR)3 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 22: (The resultant ((BP)4 (C)3 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 122: (The resultant ((BP)4 (C)3 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 22: (The resultant ((BP)4 (C)3 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 123: (The resultant ((BP)4 (C)3 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Table 23: (The resultant ((BP)4 (C)4 with ((MHR)1 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 124: (The resultant ((BP)4 (C)4 with ((MHR)1 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 23: (The resultant ((BP)4 (C)4 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 125: (The resultant ((BP)4 (C)4 with ((MHR)1 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 23: (The resultant ((BP)4 (C)4 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 126: (The resultant ((BP)4 (C)4 with ((MHR)2 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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((BP)4 (C)4 ((BP)4 (C)4 ((BP)4 (C)4

((BP)4 (C)4

((BP)4 (O)4

((BP)4 (O)4

with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2  with (MHR)2  ((BP)4 (0%

(BS)3) with (BS)3) with (BS)3) with (BS)3) with (BS)4) with (BS)4) with (BS)4) with  "Vith (MHR)2

(OP)L (Age) ~ (OP)2 (Age)  (OP)3 (Age)  (OP)4 (Age)  (OP)L (Age)  (OP)2 (Age)  (OP)3 (age) ~ (MMM
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.99 0.99 0.99 0.99 0.99 0.99 0.99 0.99
Patient Three 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Four 0.97 0.97 0.97 1.00 0.99 0.99 0.99 1.00
Patient Five 0.90 0.90 0.90 1.00 0.92 0.92 0.92 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 1.00 1.00 1.00 0.97
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.96 0.96 0.96 1.00 0.96 0.96 0.96 1.00

Follow table 23: (The resultant ((BP)4 (C)4 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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one
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Figure 127: (The resultant ((BP)4 (C)4 with ((MHR)2 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

((BP)4 (C)4 ((BP)4 (C)4 ((BP)4 (C)4 ((BP)4 (C)4 ((BP)4 (O)4 ((BP)4 (C)4 ((BP)4 (C)4 ((BP)4 (C)4
with (MHR)3 ~ with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3  with (MHR)3
(BS)1) with (BS)1) with (BS)1) with (BS)1) with (BS)2 with (BS)2) with (BS)2) with (BS)2) with
(OP)1 (Age) (OP)2 (Age) (OP)3 (Age) (OP)4 (Age) (OP)1 (Age) (OP)2 (Age) (OP)3 (Age) (OP)4 (Age)
Patient one 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Two 0.99 0.99 0.99 0.99 0.99 0.99 0.99 0.99
Patient Three 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient Four 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Five 0.90 0.90 0.90 1.00 0.90 0.90 0.90 1.00
Patient Six 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Patient seven 0.97 0.97 0.97 0.97 0.97 0.97 0.97 0.97
Patient Eight 0.97 0.97 0.97 1.00 0.97 0.97 0.97 1.00
Patient Nine 0.96 0.96 0.96 1.00 0.96 0.96 0.96 1.00

Follow table 23: (The resultant ((BP)4 (C)4 with ((MHR)3 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 128: (The resultant ((BP)4 (C)4 with ((MHR)3 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 129: (The resultant ((BP)4 (C)4 with ((MHR)3 (BS)j,j=3,4) with (OP)i (Age),i=1,2,3,4
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Follow table 23: (The resultant ((BP)4 (C)4 with ((MHR)4 (BS)j, j=1,2) with (OP)i (Age),i=1,2,3,4
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Figure 130: (The resultant ((BP)4 (C)4 with ((MHR)4 (BS)j,j=1,2) with (OP)i (Age),i=1,2,3,4
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Follow table 23: (The resultant ((BP)4 (C)4 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4
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Figure 131 : (The resultant ((BP)4 (C)4 with ((MHR)4 (BS)j, j=3,4) with (OP)i (Age),i=1,2,3,4

Now, only for patient one from tables 8 and followes 8 we calculate the sum all elements in first
row ( in table 8 found 8 values and any table in followes 8 have also 8 values extend to all tables 8 (
8 and followes 8 ) found 8 x 8 = 64 values . And go to the next table 9 and followes 9 found 8 X 8
= 64 values continuous to table 23 and Follow table 23 found in all tables from 8 and Follow table 8 to 23
to Follow table 23 we found 64 X 16 = 1024 ( we calculate all these values from all tables in table 24 )
values from all tables for only one patients is value equal 996.47 see table 25. We calculate all
values for all patients by the same fashion see table 25.

Sum Sum Sum Sum Sum Sum Sum Sum Sum
Tables Tables Tables Tables Tables Tables Tables Tables Tables
8 and 9 and 10and 11land 12and 13and 14and 15and 16and
follows follows follows follows follows follows follows follows follows
8 9 10 11 12 13 14 15 16
Patient one 59.28 60.15 60.7 64 60.25 60.25 60.7 64 62.38
Patient Two 61.73 62.13 62.13 62.13 62.17 62 62.19 62.18 62.3
Patient Three 55.39 55.68 56.52 64 58.59 58.59 58.59 64 57.06
Patient Four 58.6 59.2 59.2 59.2 59.86 59.44 59.44 59.22 59.9
Patient Five 57.16 57.92 58.72 59.98 57.92 57.92 58.72 59.8 58.38
Patient Six 61.18 63.19 62.02 62.38 61.78 63.07 62.02 62.38 62.74
Patient seven 59.75 60.54 60.78 61.44 61.14 61.14 61.16 61.44 61.71
Patient Eight 60.81 61.08 61.08 61.24 61.03 61.08 61.08 61.062 61.75
Patient Nine 58.67 58.22 58.78 62.08 58.22 58.22 58.78 62.02 58.02
Table 24
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Sum Sum Sum Sum Sum Sum Sum
Tables Tables Tables Tables Tables Tables Tables
17and 18and 19and 20and 2land 22and 23and
follows follows follows follows follows follows follows
17 18 19 20 21 22 23
Patient one 62.38 62.38 64 64 64 64 64
Patient Two 62.43 62.47 62.47 63.36 63.36 63.36 63.36
Patient Three 57.12 57.06 63.8 57.33 57.39 57.27 64
Patient Four 59.92 59.92 59.82 62.8 62.8 62.8 62.8
Patient Five 58.54 58.72 59.98 59.62 59.62 59.62 59.98
Patient Six 63.07 62.74 62.74 64 64 64 64
Patient seven 61.68 61.68 61.63 62.46 62.56 62.56 62.44
Patient Eight 61.63 61.75 61.69 62.56 62.56 62.56 62.56
Patient Nine 57.94 58.66 62.08 61.24 61.24 61.24 62.08

Follow Table 24

From the described by Kong

et al. [34], we draw the way to calculate, we compute m; =

Z§=1(xk)(i), x€X, (i=123,....,9 and i mean the properties for the patients differents from
table to another tables and From table 25 compute r; = Z? m;—m; (j=1234,...,9) to state the

degree of risk , then

All patients Total Sum
m;
Patient one 996.47
Patient Two 999.77
Patient Three | 942.39
Patient Four 964.92
Patient Five 942.6
Patient Six 1005.31
Patient seven | 984.11
Patient Eight | 985.522
Patient Nine 957.49
Table 25

r = (my —my) + (my — my) + (Mg —m3) + (Mg — my)(my — ms) + (Mg —mg) + (Mg —my) +
(my —mg) = ((my — ms) = (996.47 — 996.47) + (996.47 — 999.77) + (996.47 — 942.39) +
(996.47 — 964.92) + (996.47 — 942.6) + (996.47 — 1005.31) + (996.47 — 984.11) + (996.47 —
985.522) + (996.47 — 957.49) =189.648, Similarly, 7, = 219.348, r; = —297.072, 1, = —94.302,
s = —295.182, r, = 269.208, r;, =78.408, rg =91.116 , ry = —161.172

3. Comparison between decision doctor and our decision

We begin by the following data for nine patients with asymptotes in the table 2 and now
arrived in above step to state the degree of risks for all patients, now again the same data

with decision doctor and our decision in table 26,

Our results and treatments by taking four reading

of all asymptotes, but the treatments by doctor take by only one reading see figure 132 .

103



Mohammed M. Khalaf

p Degree of risk byus ~ Rearrangement ~ Treatments by us  Treatments by doctor
the risks
D1 189.648 3 Intervention Drug therapy
D2 219.348 2 Intervention Drug therapy
D3 -297.072 9 Non Drug therapy
Da -94.302 6 Drug therapy Intervention
Ds —295.182 8 Non Intervention
De 269.208 1 Intervention Intervention
D7 78.408 5 Drug therapy Intervention
Ds 91.116 4 Intervention Drug therapy
Do -161.172 7 Drug therapy Intervention
Table 26

M Degree of risk by us
B Rearrangement the
risks

Treatments by us

B Treatments by doctor

Figure 132: Comparison between decision doctor and our decision

Motivated from the above problem, we give the following algorithm for decision- making

problem:

Algorithm: Using Fuzzy soft set expert system.

Step 1. State a reality values in table 2 of asymptotes of coronary artery disease and transform
to fuzzy form in table 3

Step 2. The resultant of symptoms (Blood pressure (BP) And Cholesterol (C)) of coronary artery

disease in fuzzy form in table 4 and By the same fashion we introduce the resultant of

symptoms (Maximum heart rate (MHR) and Blood sugar (BS) in table 5 and figure 2 and the resultant of

symptoms (Old peak (OP) and Age (Age) ) in table 6 and figure 3 of coronary artery disease in fuzzy

form
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Step 3. Now from tables 4 and 5, we will have 16X 16 parameters by take (BP)1 (C)1
in table 4 for the patients with all parameters of patients in table 5, (BP)1 (C)2 in table 4
for the patients with all parameters of patients in table 5 and (BP)1 (C)3 in table 4 for the
patients with all parameters of patients in table 5, (BP)1 (C)4 in table 4 for the patients
with all parameters of patients in table 5 and complete by the same way to arrive to the
parameter (BP)4 (C)4 in table 4 for the patients with all parameters of patients in table 5.

The statement (BP)1 (C)1 with (MHR)1 (BS)1 meanthat 70 V75 = 75and (BP)1 (C)1
with (MHR)1 (BS)2 meanthat 70 V84 = 84 and (BP)1 (C)2 with (MHR)1 (BS)1 mean that
70 V75 =75 by this fashion complete all values to get table 7. And table 7 with all follows
table’s only one table by the long 16 X 16 = 256 parameters.

Step 4. From tables 7 and 6, we will have 256X 4 parameters by take ((BP)1 (C)1 with
(MHR)1 (BS)1) with (OP)1 (Age) , (OP)2 (Age), (OP)3 (Age) and (OP)4 (Age)
respectively and ((BP)1 (C)2 with (MHR)1 (BS)1) with (OP)1 (Age) , (OP)2 (Age),
(OP)3 (Age) and (OP)4 (Age) respectively for all patients such that ((BP)1 (C)1 with
(MHR)1 (BS)1) with (OP)1 (Age) mean that 0.75 v 0.62 = 0.75 and complete by take all
values of table 7 with (OP)1 (Age) , (OP)2 (Age), (OP)3 (Age) and (OP)4 (Age)
respectively to get 1024 parameters in the following tables ( 8-23).

Step 5. For patient one from tables 8 and followes 8 we calculate the sumations all elements in
first row ( in table 8 found 8 values and any table in followes 8 have also 8 values extend to all
tables 8 ( 8 and followes 8 ) found 8 X 8 = 64 values . Amd go to the next table 9 and followes 9
found 8 x 8 = 64 values continuous to table 23 and Follow table 23 found in all tables from 8 and
Follow table 8 to 23 to Follow table 23 we found 64 X 16 = 1024 ( we calculate all these values from all
tables in table 24 ) values from all tables for only one patients is value equal 996.47 see table 25.
We calculate all values for all patients by the same fashion see table 25.

Step 6. From the described by Kong et al. [34], we draw the way to calculate, we compute m; =
Y8_1(x)@), xeX, (i=123,....,9) and i mean the properties for the patients differents from
table to another tables and From table 25 compute r; = 2? m; —m; (j =1234,...,9) tostate the
degree of risk

Conclusion

We transform the reality data for a symptoms for Coronary artery disease from
hospital to fuzzy form and extend to fuzzy soft set expert system and a combinations the
parameters between a symptoms arrive to talked the treatments of Coronary artery

disease A comparison between our treatments and treatments hospital are discussed. Our
results and treatments by taking four reading of all asymptotes, but the treatments by doctor take by only
one reading.
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